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( 6 3 /<G+��*BG :%6 /LKF(+9 : / 6 /Fu%(�/ 4%3 N :%3 � 3 ( 6 9>|%. 3�6 ,�| 6L3 / 6 9>� = .>90*-90/L.A, � G�K G :�3 *
( : , 6 3 (]� G+KL�l,%.>( �
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6 ,%| 6 3 / 6 G :%3 u&( 6 /FG 4%3 (+. : 9 /Fu   ')G+K�9 :%6 /F( : * 3+��6 , =%= G 6 3 /Fu%(�/</Fu 3!8 KLG�, :%4!6 3 /8*-G :%6 9 6 / 6 G+�
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G+�)/Fu 3 6 ,%| 6 , 6 / 3 � 6 G�.0,�/F90G :%6B  '&G�K 9 :%6 /F( : * 3+� G :%3 *-( :�= (+K /F9 /F9>G : /Fu 3 *-G :%6 /FKL(+9 : / 6 G+�)/Fu 3 |%9 :
= (+*32@9 :Q8R= KLG+|%. 3 � |-,I*-G :%6 9 4%3 K 9 :<8 *BG :%6 /FKF(�9 : / 6�D � F<( 6 /Lu 3�8 .0G�|&(+.$*BG :%6 /FKF(�9 : / 6�D � �TU � F �
( :%4 *-G :�6 /FKL(+9 : / 6 D � F ( 6 ( 6 ,%| 6 , 6 / 3 � G+��*-G :%6 /FKL(+9 : / 6!D � � � � F  
tvu 3 K 3 (+K 3 / : G 2@9 :%4%6 G+� 6 90/L,&(�/F90G : : u 3 K 3 /Fu 3P4�3 *-G+� = G 6 9 /F90G : ( =%= KLG�(+* uT9 6�: (�/F,�KF(+.0.A,
, 6L3B4� ;W�:%3 9 6 : u 3-: /Lu 3 G = /L9>� 9SR-(�/F90G :i= KLG�|�. 3 � 9 6�3 ( 6 , /LG 6 G�. x�3 G x+3 Kl/Fu 3R6 ,%| 6 , 6 / 3 �
G+�A*-G :%6 /FKL(+9 : / 6HD 9  {3�  � � � � (+K 3�: 90* 3 *-G :%6 /LKF(+9 : / 6 | 3 *
(+, 6 3 /Lu 3 ,i� G 4%3 .�( :A3 .>. � 2 : G :<:

� �



= G�.T,
u 3-4 K G :�� � G�K�9 :%6 / ( : * 3+� ( :%3 / : G�KZ2 U G :j= KLG�|%. 3 �HF � |%,�/�*-G :%6 /LKF(+9 : / 6 � �GU � *-G�� = .09 �
*
(�/ 3 /Fu 3]= K G�|%. 3 �   tvu 3]6 3 *-G :%4 ( :%4 ��G 6 /890� = G�K / ( : /<*
( 6L3 � G�K<, 6 9 6 /Fu&(�/89 : : u%90* uq/Fu 3
= KLG�|�. 3 � 9 6�4%3 *BG�� = G 6 (+|%. 3�� 9   3+  *BG :%6 /LKF(+9 : / 6 � � � � u&( x�3 (R|%.0G2*32 4 9 ( 8 G : (+. 6 /LKL,%* /F,%K 3
D�6L3B3 '�9 8 ,%K 3}� F �$6 GI/Lu&(�/D/Fu 3 6 ,%| 6 , 6 / 3 � 4�3 *-G+� = G 6L3B6 9 : /FG�� 6 ,%| 6 , 6 / 3 � 6B  tvu 3�8 .>G+|&(+.
*-G :%6 /FKL(+9 : / 6 (+K 3 /Fu 3B: *
(�.>. 3B4 .>9 : 2
9 :<8 *BG :%6 /LKF(+9 : / 6-��6 9 : * 3 /Lu 3 � |%.0G2*32 6 ( 6L6 G2*B9 (�/ 3-4E: 90/Lu
/Fu 3 � 6 ,%| 6 , 6 / 3 � 6�: G�,�. 4 | 3 9 :%4%3-=�3-:�4%3-: / : 90/Lu%G�,�/�/Lu 3�= K 3B6L3-: * 3 G���/Lu 3 *-G :�6 /FKL(+9 : / 6
D � � U � F  5HJ: /Lu 3 |%9 :P= (+*32@9 :Q8}3 =�(+� = . 3�� � � � �I4%3 *-G�� = G 6L3B6 9 : /FG G :%3l6 ,%| 6 , 6 / 3 � G+�
*-G :%6 /FKL(+9 : / 6 � G�K 3 (+* uq|�9 :� 

' 9 8 ,%K 3�� � 7 /FK ,%*B/L,%K 3 G+��/Fu 3 *BG :%6 /LKF(+9 : /<� (�/LKL9 =  

HJ:�6 G�� 3 ( =�= .>90*
(�/L9>G :%6B� /Lu 3 G : .A, : (�,�/FG8� G�K �l,%.>(�/ 3 /Fu 3A= KLG+|%. 3 �g9 6 /LG5, 6L3 (�. (+K 8�3A: ,%�]| 3 K
G+� x (+KL9>(+|%. 3B6�D�6L3B3 � (+K : u&(+K / D �����+� F'- � 1 F   K u 3 /Fu 3 K]/Lu 3 9 : / 398�3 K = K G 8 KL(+� : 90/Fu (q. (�K 8�3
: ,��l| 3 K G+� x (+K 9 (+|�. 3-6 K 3-6 ,�.0/ 6 � KLG�� 4�3 *-G+� = G 6 9 /F90G : G+K : G�/ � :A3 *
(�.>.<90/ /Fu 3 1 /92("�#('�|-,
K 3 � 3 K 3B: * 3 /FG�/Fu 3 ~5( : R-9 8�� K G�.0� 3�4%3 *BG�� = G 6 90/F90G :R= K 9 : *B9 = . 3 9 : .09 :%3 (+K = K G 8 KF(���� 9 :<8� 


 �@�&�������<N �����r� � �)	 �i��� ����� ���ON������ � ����	 �)�q���!�����@	 ��� � ���z��� ���
tvu 3 � ( 6 / 3 K 9 : / 398�3 K = K G 8 KL(+� 9 6 6 G�. x+3-4 /FG]G = /F90� (�.>90/B,]|-,R|%KL( : * u � ( :%42� |�G�, :%4�  t�Gl*
(+K KZ,
G�,�/ /Lu 3 9>� = .09>*-9 / 3-: ,%� 3 KL(�/F90G : 6 * u 3 � 3+�<:A3 , 6 3 ( =%= K G?=290� (�/L9>G :�6A= K G x 9 4%3-4 |-, /Fu 3 .>9 :�3 (+K
= KLG 8 KF(+� ��9 :<8 K 3 .>(>=�(�/F90G :%6 G+��/Fu 3 ��( 6 / 3 K D ��( 6 / 3 K����`F   t`, = 90*
(+.0.A,�/Fu 3 *-G�.0,%� :�6 G+��/Fu 3
� ( 6 / 3 K�(+K 3v: G�/�2 : G :<:�3 = = .>9>*B90/L.A,ZG�K���( :%4 (+K 3 /FG
G5� ( : ,�/FGD| 3 : K 90/ / 3-: G+,�/ 3 = = .09>*-9 /F.T,  �HJ:
= KF(+* /F90* 3+� G :%3 : G�KP2 6�: 90/Lu�(R.>9 :%3 (�K = K G 8 KL(+��� 9 :Q8 K 3 . ( =%(�/F9>G : 9 :\x G�. x 9 :Q8 ( 6 ��(+.>. 6 ,%| 6L3 /
G+��*-G+.>,%� :%6 ( :%4 8�3-:�3 KF(�/ 3]:�3�: G :�3-6 9 � ( :%4 : u 3B:P:%3B3-4%3B4� �7 9 : * 3 ( : G = /F9>�],%� 6 G�.>,�/L9>G :
/B, = 9>*
(�.>.A,�9 :\x G�. x�3-6 G : .T,I(�� 3�: *BG�.>,%� :%6B� /Lu 3 9 4%3 ( 9 6 /FG 8+3-:%3 KF(�/ 3 /Fu 3 *-G+.>,%� :%6 /Fu&(�/�(+K 3
= G+/ 3-: /F9>(+.>.T, = (+K /�G+��/Fu 3 G = /F90�l,%� 6 G�.0,�/F90G : ( :%4 /FGZ( x G+9 4 *-G :�6 9 4�3 KL9 :<8 /Fu%G 6L3 /Fu&(�/#(+K 3<: G+/
(�/L/LKF(+* /F9 x+3+ 

HJ:!= KL(+*B/L9>* 3+�&4 ,%K 9 :<8 /Lu 3 ��� G = /F90��9AR
(�/L9>G :�= KLG
* 3B4 ,%K 3+� G :%3D6 G�. x+3-6 ( : G = /F90��9AR
(�/L9>G :�6 ,%| �

� b



= KLG+|%. 3 � *
(+.0. 3B4 /Lu 3 *-G�.0,%� :J8�3B:%3 KL(�/F90G :I6 ,%| = KLG�|%. 3 � /LG 3 x (�.>,&(�/ 3 /Fu 3 (�/L/LKF(+* /F9 x�3-:�3-6L6 G+�
*-G�.0,%� :%6 /Fu&(�/Au%( x+3�: G+/+, 3 /A| 3-3-: 9 : *B.>, 4�3-4 9 : /Fu 3 � G�K �l,%.>(�/F90G :� �H ��G :�3 G+K#� G�K 3 *-G�.0,%� :�6
*
( :�= G�/ 3-: /L9 (+.0.A,�90� = K G x�3 /Fu 3 *-,%K K 3B: / 6 G�.0,�/F90G :�� /Fu 3 ,�(+K 3 ( 4%4�3-4 /LG�/Fu 3 � G�K �l,%. (�/F9>G : ( :%4
/Fu 3 = KLG
* 3B4 ,%K 3 K 3 9 / 3 KF(�/ 3-6-  tvu%9 6 / 3 * u : 9>?@, 3 9 6 2 : G :<: ( 6 =@+93MC&1  $&#( >#('0/." �%+9   tvu 3 � ( 6 / 3 K
� G�KL�],%. (�/L9>G :�: 9 /Fua��( : , *BG�.>,�� :%6 9 6 (+. 6 Gq*
(�.>. 3B4 /Lu 3 =@+93MC&1  $&#( >#('0/." �%+9 ��6+9'�1 C&34/."8�%+9  
tvu 3 *BG��l|%9 : (�/L9>G : G+��*BG�.>,%� : 8�3-:%3 KF(�/L9>G : : 90/Luq|%KL( : * u � ( :%42� |�G�, :%4 9 6 K 3 � 3 K K 3-4 /LGR( 6����
=@+93MC 1  $&#( >#('-/." �%+9  

� �����@	��
�B� ���<� � ��	 �i�������������ON������X� �%	��)�P���������@	 �������%	������ � �
�
W ,%KD��G+/L9 x (�/L9>G : � G+KZ*BG :%6 9 4%3 KL9 :Q8 9 : / 398�3 K = KLG 8 KF(+� 6�: 90/Lu (�. (+K 8�3�: ,%�l| 3 KZG+� x (�KL9 (�|%. 3B6
9 6 / : G+� G�. 4�  ' 90K 6 / � : 3 : ( : /�/LG 6 G�. x�3 (R/ 3 . 3 *BG�� �l, : 90*
(�/L9>G :P= KLG�|%. 3 � *-G :%6 9 6 /F9 :Q8 G��A/Lu 3
(+.>.0G2*-(�/F90G : G+�</Fu 3 / 3 . 3 *-G�� �l, : 9>*
(�/F9>G : /FKL( @ *R/FGm( :a3 =�9 6 /L9 :<8�:%3 / : G+KP2   tvu%9 6]= KLG�|�. 3 �
*
( : | 3 � G+KL�l,%.>(�/ 3B4 ( 6 ( *BG�� = (+*B/<9 : / 398+3 K = KLG 8 KF(+�  +C G :A3Bx+3 K � /Fu 3Z6 / ( :�4 (+K 4 ���X|&( 6 3-4
|%KF( : * u � ( :%42� |�G�, :�4 (+. 8 G+KL90/Lu%� *
( :%: G+/ 6 G�. x+3 K 3 (+.>9 6 /F90* 6 9SR 3-4 9 :�6 / ( : * 3B6 G+��/Fu%9 68= K G�|%. 3 �  
HJ:%4%3B3-4�� /Fu 3 .>9 :%3 (�K = KLG 8 KF(+� ��9 :<8 K 3 . ( =%(�/F9>G : |�G�, :�4 9 6 ( = G2G�K#( =�= KLG�=29>��(�/F90G : G+��/Fu 3 9 :
�
/ 3�8�3 K�G = /L9>��(+. x (�.>, 3� �_ G�K 3 G x�3 K �
6 /F( :%4 (+K 4 |�KF( : * u � ( :%4
� |�G�, :%4 ��(+9>. 6 4 , 3 /LG5/Fu 3 9 : u 3 K 3-: /
6 ,
� � 3 /FKZ,ZG+�2/Fu 3A= KLG+|%. 3 �  a\ = = .>G�9 /F9 :Q8 /Lu 3 *BG :%6 /FKF(�9 : / ��(�/LKL9T= 6 /FK ,%*B/L,%K 3��M:A3 4%3 *BG�� = G 6 3
/Fu 3�= K G�|%. 3 �   tvu 3 ��( 6 / 3 K�K 3 � G�K �l,%. (�/F9>G :�= KLG x 9 4%3B6 (D/F9 8 u\/ 3 K�|�G�, :%4 ( :%4 3 .09>� 9 : (�/ 3-6 /Lu 3
4 9A@ *B,%.0/L9 3-6 ( 6L6 G2*B9 (�/ 3-4 : 90/Lu /Lu 3�= KLG+|%. 3 � 6 ,
� � 3 /FK ,   tvu@, 6B� /Fu%9 6�= KLG+|%. 3 � 9 6 ( 8 G2G 4
*
( :�4 9 4 (�/ 3 � G�K /Lu 3DH �X*-G�.0,%� : 8+3-:%3 KF(�/L9>G :�6 G+.>,�/L9>G : � 3 /Lu%G 4  

HJ: ��( : ,iG+/Fu 3 Kl( =�= .>90*
(�/L9>G :%6B� /Fu 3 � ( 6 / 3 K]K 3 � G�KL�],%. (�/L9>G : 9 6 ( 42x ( : /F( 8�3 G�, 6 | 3 *-(+, 6 3 90/ 6
���cK 3 . ( =%(�/F9>G : = K G x 9 4%3-6 (!/L9 8 u\/]|�G�, :%4 G : /Fu 3 9 : / 3�8�3 K 6 G�.0,�/F90G : x (+.0, 3+  _ G+K 3 G x+3 K � 9 /
3 .09>� 9 : (�/ 3-6A4 9A@ *-,�.0/F9 3-6 9 : u 3 K 3-: /�9 : /Fu 3�6 ,2� � 3 /FK 9>* 6 /FK ,%*B/L,%K 3 G+��/Lu 3D= KLG+|%. 3 � ( :%4 90/<G�� �
� 3 K 6 ( : (�/F,%KL(+. � � . 3Bx+3 . 4�3 *-G+� = G 6 9 /F90G :
: 90/Lur( : ( 8 8 K 398 (�/ 3-4 . 3 x�3 . � /Lu 3 � ( 6 / 3 K � ( :%4 (
4 9 6 ( 8 8 K 398 (�/ 3-4 . 3Bx�3 . � /Lu 3D6 ,%| = KLG�|%. 3 � 4�3 N :%3B4 |-,}/Fu 3Z6 ,%| 6 , 6 / 3 � G�� *BG :%6 /LKF(+9 : / 6- 

tvu 3i6L3 *-G :%4 � G+/F9 x (�/F9>G : � G�K 6 /F, 4 ,
9 :<8 /Fu 3 *BG�.>,%� : 8�3B:%3 KL(�/F90G : ( =%= K G\(+* u � G�KR9 : / 398�3 K
= KLG 8 KF(+� � 9 :<8 9 6 /Fu 3 K 3 * 3B: / 6 ,�*-* 3B6L6 G+� /Lu%9 6 / 3 * u : 90?@, 3+ AHJ:!= (�K /F90*-,%.>(+K �2;^8 u 3 R9R-(�� 3 /   (+.  
D ���+� � F - � 1)u&( x�3�6 u�G :<: /Fu&(�/ � � G�K /Fu 3�= KLG�|%. 3 � G�� = (�*32
9 :<8Z6 ,%|�/LK 3B3-6 G+�$(�/FK 3-3�� /Lu 3 � ( 6 / 3 K
���a� G+KL�l,%.>(�/F90G : u&( 6 ( : 9 : / 3�8�3 KAG = /L9>��(+. 6 G�.0,�/F90G :�  tvu%9 6 KF(+9 6L3-6 ( : 9 : / 3 K 3-6 /L9 :<8 ?
, 3-6 /L9>G : �
K u 3-: 4 G 3-6 /Lu 3 4%3 *BG�� = G 6 90/F90G : ( =%= KLG\(+* u;,29 3 . 4%6 8 G2G 4 ( =%= K G�=�90� (�/F9>G :%6�� HJ: /Lu 3 :%3 =
/
723 * /F90G :�� :A3 K 3 *-(+.>.�/Lu 3 /Lu 3 G�K 3 /L9>*
(�.
*BG :%4 9 /F90G :%6 , :%4%3 K : u%90* u�/Lu 3 ��( 6 / 3 K���� 6 G�. x�3-6 /Fu 3 9 :
�
/ 3�8�3 K = KLG+|%. 3 �   � ,�/ � : u 3B: /Fu 3B6L3 *-G :%4 90/F90G :%6�4 G : G+/Au%G�. 4��@4 G 3B6 /Lu 3 � ( 6 / 3 K ��� = K G x 9 4%3
8 G
G 4 |�G+, :%4%6��mHJ:q= (+K /L9>*-,�. (+K � u%G :j4 G�/Fu 3B6L3 |�G�, :�4%6 *BG�� = (+K 3�: 90/LuI/Lu 3 G :%3-6 G�|�/F(+9 :%3B4
: 90/Luq/Fu 3]= G�.T,
u 3-4 KL(+.�( =%= K G\(+* u � _ G�K 3�8+3-:%3 KF(+.0.A, � 9 6 /Fu 3 *-G�.0,%� : 8�3-:%3 KF(�/L9>G : ( =%= K G\(+* u
KLG�|�, 6 /A(+*BKLG 6 6 ( =%= .>90*
(�/L9>G :�6�� tvu 3-6 3 ?@, 3B6 /L9>G :%6`8 GD| 3 ,�G :%4 /Lu 3<6 *BG =�3 G+��G�,%K 6 /F, 4 , : u�9>* u

�
�



9 6 � (+9 : .A,q*-G : * 3 K :%3-4 : 9 /Fum/Fu 3�4%3Bx+3 .>G = � 3B: /lG+� ( : H � *-G+.>,%� :;8+3-:%3 KF(�/L9>G : (+. 8 G+KL90/Lu%�  
C G : 3 x�3 K � 9 : /Lu 3 *-G�,�K 6L3 G+�AG�,%KD*-G+� = ,2/ (�/L9>G : (�. 3 = =�3 K 9>� 3-: / 6B�6:A3 u%( x+3 / 3-6 / 3-4 /Fu 3 *BG�. �
,%� : 8�3-:�3 KF(�/F9>G : ( =�= KLG\(�* uPG : / : G G�/Fu 3 K�/B, =�3-6 G+� = KLG+|%. 3 � 6 � G�K : u%9>* u!/Fu 3Z= G+.A,
u 3-4 KF(+.
( =%= K G\(+* u =�3 K � G�K � 6
:A3 .0. � 8 KF( = u = (+K /L90/F90G : 9 :<88= K G�|%. 3 � 6 ( :%4�6 9 :<8 . 3 � ��(+* u%9 :%3 �l,�.0/F9 � 9 / 3 �
.>G+/ �J6 9AR-9 :<8P= K G�|%. 3 � 6B  tvu 3B6L3 / 3B6 / 6 = (+K /F9>(+.>.T,m( 4%4 K 3-6L6 /Fu 3 ?
, 3-6 /L9>G : G+��KLG+|%, 6 / :%3-6 6 ( :�4
/Fu 3 ,P��(?,I| 3 *BG�� = (+K 3B4 : 90/Luq/Fu 3]3 =29 6 /F9 :Q8 K 3B6 ,%. / 6 G+|�/ (+9 :%3-4 , 6 9 :<8 /Fu 3]= G�.A,
u 3B4 KF(+.�( =2�
= KLG\(�* u D 6L3-3 - � 1 � - ��� 1 F  
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���� �0���
tvu 3l4%3 *-G�� = G 6 90/L9>G :�= K 9 : *B9 = . 3�: ( 6 9 : /FK G 4 ,%* 3B4 |-,P~5( : /PR-9 8 ( :�4 K G�.0� 3 9 :m��� � � - ��� 1  �H /
. 3 ( 4%6 /FG</Fu 3 , 6 3 G+��(<*-G�.0,%� :�8+3-:%3 KF(�/L9>G : (+. 8 G�KL9 /Fu%� /FG 6 G�. x+3 .>(+K 8�3 6 *
(�. 3 .>9 :%3 (+K = KLG 8 KF(+� 6- 
tvu%9 6�4�3 *-G+� = G 6 9 /F90G : ( =�= KLG\(�* u�u&( 6 | 3 *BG�� 3�6 /F( :%4 (+K 4 .>9 :%3 (+K = K G 8 KF(���� 9 :<8 � 3 /Fu�G 4 G+. �
G 8 , ( :%4 9 6A4%3-6 *-K 9>| 3-4 9 : : ,�� 3 KLG�, 6 / 3 =
/L|�G
G 2�( :%4}= ,%|�.>9>*-(�/F90G :%6ID�6 3-3 � G�KA9 :%6 / ( : * 3l� - � � 1 �
- b � 1 � - �,� 1 � ( :%4 - � b 1 � G :J: u%9>* u : 3 u&( x+3 |&( 6L3-4 /Fu 3D= K 3-6 3-: / (�/L9>G : | 3 .>G : F  

~5( : / R-9 8�� K G�. � 384%3 *-G�� = G 6 90/L9>G :�: ( 6 G+KL9 8 9 : (+.0.A,�9 : /FKLG 4 ,%* 3-4 9 : G�K 4%3 K /FG 6 G�. x+3 . (+K 8�3�6 *-(+. 3
.>9 :�3 (+K = K G 8 KL(+��� 9 :Q8 = K G�|%. 3 � 6 G : *BG�� = ,�/ 3 K 6�: 90/Lu .09>� 90/ 3B4 *-G+K 3�6 /LG�KF( 8+3 *
( = (�*-90/B,  �H /
: ( 6A: G+/#� 3 ( : /#/FGZ*-G�� =�3 / 37: 90/Lu�/Lu 3�6 9>� = . 3 =�� 3 /Lu%G 4 |%,�/AKF(�/Fu 3 K�/LG]*BG�� = . 3 � 3-: /�9 /A|-,
3 =
/ 3B:%4 9 :Q8 /Lu 3 KF( :<8+3 G+��( =%= .09>*
(�|%9>.090/B,�G+��.>9 :%3 (�K = KLG 8 KF(+� � 9 :<8%  tvu%9 6v= KLG�|%(+|%.A, 3 = = .>(+9 :%6
: u ,�9 /�9 6�6 G�� 3 /F90� 3B6 K 3 � 3 KLK 3-4 /FGZ( 6+8�3-:�3 KF(�.>9SR 3-4 .>9 :%3 (�K = K G 8 KF(���� 9 :<8�  K u 3-: ( =%= .>9 3-4 /LG
.>9 :�3 (+K = KLG 8 KF(+� 6I: u%G 6L3 *-G 3 @ *B9 3-: / 6 ��(�/LKL9>* 3-6 u&( x�3 /Fu 3�6 /FK ,%*B/L,%K 3�= K 3-6 3-: / 3B4 9 : ' 9 8 ,%K 3
��� 9  {3� 0� G :%3 G+K8� G�K 3 9 :%4%3B=�3B:%4%3B: /�|%.>G
*32 6(D�6 ,%| 6 , 6 / 3 � 6 F8.09 : 2 3-4 |-,!*-G�, = .>9 :<8 3 ?
,%(�/F90G :%6-�
90/vG =�3 KL(�/ 3B6 |-, � G�K ��9 :<8 ( :}3 ?@,%9 x (+. 3-: / 1 /92("�#('#.>9 :%3 (�K = K G 8 KL(+� u%( x 9 :<8 G : .T,R(]� 3O: � G�K 3
KLG :<6 /Fu&( : /Fu 3 K 3 (�K 3 .09 : 2@9 :<8 *BG :%6 /LKF(+9 : / 6 9 : /Fu 3 G�KL9 8 9 : (+.%� G�KL�],%. (�/L9>G : |%,2/vu&( x 9 :<8 ��( : ,
��G�K 3 *-G�.0,%� :%6- 

[ G :%6 9 4%3 K�( 8�3-:�3 KF(�.$.>9 :�3 (+K = KLG 8 KL(+� ��9 :<8]= K G�|%. 3 � G+��/Fu 3 � G+KL�

� 9 : 
 �
6-  /  � � U �� � � �
� _ �

: u 3 K 3 � �TU � K 3-= K 3-6 3-: /5/Fu 3 .>9 : 2@9 :<8 *-G :%6 /LKF(+9 : / 6-  � 3 / W���6(\�6:9�; | 3 /Lu 3l6 3 /�G�� 3 =
/FK 3 � 3
= G�9 : / 6 G+�v/Lu 3R= G�.A,
u 3B4 KLG : W�� R S � � � � � � � ��\@� ( 6 6 ,%� 9 :Q8 /Fu&(�/l90/]9 6 |�G�, :%4%3-4 ( :�4
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: u%9>* u :A3 K 3 � 3 Kv/LG�( 6 /Lu 3 1 /92("�#(' = KLG+|%. 3 �  

7 G�. x 9 :<8 /Lu 3 � ( 6 / 3 K5|%9 : (+KZ,!9 : / 3�8�3 K = KLG 8 KF(+� 9 6�3 ?
,�9 x (+. 3B: /�/FG 6 G+. x 9 :<8 /Fu 3 G�K 9 8 9 : (+.�9 :
�
/ 3�8�3 K]� G+KL�l,%.>(�/F90G : -�	 1   C G :A3Bx+3 K � /Lu 3 .>9 :%3 (+K = K G 8 KF(���� 9 :<8 K 3 . (>=�(�/L9>G :�6 G+�v/Lu 3-6 3 / : G
� G�KL�],%. (�/L9>G :�6 (+K 3 4 9AL 3 K 3-: /  �;�6!:A3 6 u%(+.>. 6 u�G : 9 : /Lu 3R7
3 *B/L9>G :X�� {��� /Lu 3 ��( 6 / 3 KZ.>9 :%3 (+K
= KLG 8 KF(+� � 9 :<8 K 3 .>(>=�(�/F90G : 8�3-:%3 KF(+.0.A, . 3 ( 4%6 /FG (i/L9 8 u\/ 3 K�.>G : 3 K�|�G�, :%4 /Lu&( : /Fu 3 .>9 :%3 (+K
K 3 . (>=�(�/L9>G : G+��/Fu 3 G+KL9 8 9 : (+.)� G�K �l,%. (�/F9>G :� 

K 3<= G�9 : /�G�,2/�/Fu&(�/�/Lu 3<4%3 *BG�� = G 6 90/L9>G : G+� ( : 9 : / 3�8�3 K = KLG 8 KL(+��9 6�6 G�� 3 /L9>� 3-6 9 : /LKLG 4 ,%* 3-4
4 9AL 3 K 3-: /F.T,q9 : /Fu 3 .>9 / 3 KL(�/F,�K 3 D 6L3B3 - � 1 � - ��� 1 F   tvu 3 (�.0/ 3 K : (�/ 3]= K 3-6 3-: / (�/F9>G : , 6L3-6 /Lu 3 ��(+* /
/Fu&(�/ /Fu 3 9 : / 398�3 K = K G 8 KF(���� 9 :<8 G = /F9>� 9SR-(�/F90G : G+�5/Lu 3q6 ,%| = K G�|%. 3 � 9 6�3 ?@,%9 x (+. 3-: / /LG (
.>9 :%3 (+K = K G 8 KL(+��� 9 :Q8 G = /F90��9AR
(�/L9>G : G x+3 K]/Lu 3 *BG :\x�3 = u@,%.>.#G+� /Lu 3 6 ,%| = KLG�|%. 3 � 3 =
/FK 3 � 3
= G+9 : / 6 D 6L3-3���3 ��u%(+, 6L3 K�( :%4 K G�. 6L3 , D �
� 	 	 F - �,� 1 F   tvu&(�/�9 6-� ( : , = G�9 : /<G+� 
 !6� 	 D � F *-( :
| 383 = = K 3B6L6 3-4 ( 6 5 619��;�� 6����61: 9 /Fu 5 6:9��;�� 6�Uc� ( :�4 � 6 _ �:X&� � R �7 � : u 3 K 3 W����6Z\ 619��; 9 6
/Fu 3D6 3 /�G+� 3 =
/FK 3 � 3�= G�9 : / 6 G+� 
 !6� 	 D � F  
tvu%9 6 ( =�= KLG\(�* u ,
9 3 . 4%6 ( 6 .>9 8 u@/L.A, 4 9AL 3 K 3-: /�� ( 6 / 3 K H � � G�K �l,%. (�/F9>G : �

� 9 : 

6:9 �; 
 6 � 6
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� 6 _ � � � R �7  
C�3 K 3 /Lu 3 9 : / 398 KL(+.>9 /B,T*-G :%6 /LKF(+9 : / 6 (+K 3 3 = = K 3-6 6L3B4 9 : / 3 KL� 6 G+��/Lu 3 G+KL9 8 9 : (+. x (�KL9 (�|%. 3B6� U 5 6:9 �; � 6	���6-  � G+/ 3 /Fu%(�/ 9>� = G 6 9 :<8 9 : / 398 KL(+.>9 /B, G+��/Fu 3 � y 6�: G�,%. 4X: G�/�. 3 ( 4 /FG ( :
3 ?@,%9 x (�. 3-: /A9 : / 3�8�3 K = KLG 8 KF(+� � 9 :<8 K 3 � G�K �l,%. (�/F9>G : ( 6 /Fu 3 G = /L9>��(+.&9 : / 398�3 K 6 G�.>,�/L9>G : G+� -
	 1
� (�, | 3 (�9 : / 3 KL90G�K = G+9 : /vG+� �  

K u 3-: /Fu 3 � x (+KL9>(+|%. 3B6 (+K 3 |�9 : (+K , � �7 U 7 ( :%4 /Fu 3 / : G ��( 6 / 3 K�K 3 � G�K �l,%. (�/F9>G :%6 (+K 3
3 ?@,%9 x (�. 3-: /  ^C G :A3Bx+3 K � 9 : /Lu 3 *-( 6L3 G+� 8�3-:�3 KF(�.�9 : / 398�3 K x (+K 9 (+|%. 3-6B� /Lu 3 ,q(+K 3]4 9TL 3 K 3-: /  8HJ:

� �



/Fu%9 6 /Lu 3-6 9 6B�%:A3 6 u&(+.0. = K 3B6L3B: /]( : 9 : / 3�8�3 K = KLG 8 KL(+� ��9 :<8 *-G+.>,%� :E8�3-:%3 KF(�/L9>G : (+. 8 G�K 90/Fu��
/Fu&(�/ 3-: *BG�� = ( 6L6 3-6 /Fu 3 *
( 6 3 G+�<( 6L3 / � *BG : / (+9 : 9 :Q8 8�3B:%3 KL(+.#9 : / 3�8�3 K = G+9 : / 6B  tvu%KLG�, 8 u
/Fu 3 |%KL( : * u%9 :<8�6 * u 3 � 3 ( :%4 /Lu 3 ( 6L6 G2*B9 (�/ 3-4�6 ,�| = KLG+|%. 3 � ��G 4 9TN&*
(�/L9>G :�6 * u 3 � 3�� G :%3 *-( :
8�3-:%3 KF(�/ 3 9 : / 3 K 9>G�K = G�9 : / 6 G+� � ( 6<6 G�.0,�/F90G :%6 G+��/Fu 3D= K 9>*B9 :<8�6 ,%| = K G�|%. 3 �  

' ��� ���&�-�P����� 
 � � ���������-�%����� ��	��)� � �*�
K u 3-:}= K G�|%. 3 � -�	 1�u&( 6 ( 6 /LKL,%* /F,%K 3-4 *-G :�6 /FKL(+9 : /A� (�/FKL9 = .>9A2 3 /Fu 3 G :%38= K 3-6 3-: / 3B4 9 : ' 9 8��
,%K 3!���6:A3 6 (�,m/Lu&(�/Z90/Z9 6Z4�3 *-G+� = G 6 (�|%. 3�  tvu 3-: � /Fu 3 = K 9>*-9 :<8�6 ,%| = KLG�|�. 3 � 4%3 *-G�� = G 6L3B6
9 : /FG � 9 :%4%3B=�3B:%4%3-: / 6 ,%| = KLG�|�. 3 � 6 ��9  {3�  � U � � � Y6Y6Y � ���  

H � :A3 . 3 / W�� �6 \ 6:9<;�� K 3-= K 3-6 3-: /</Fu 3�6L3 /vG+�$� 3 ( 6 9>|�. 3�6 G�.0,�/F90G :%6 9 : � � � /Lu 3-: � G+K (+.0. � � R � � �
/Fu 3 K 3q3 =29 6 / 6 ��� R W �:X
� \ < ; � < 6 ,%* u_/Lu&(�/ ���<U 5 619�;�� ���6 �"�6 ( :�4 5 619�;�� ���6 U ��  tvu 3
K 3-6 ,%.0/L9 :<8 ��( 6 / 3 Kv9 6 �

��9 : �

��� �



6:9<;�� 
 �6 � �6

6B  /  
�

��� �



6:9<;�� 3 �6 � �6 U �


6:9�;�� � �6 U � � �

� �6 R W �:X
� \ � � X � R 7 �  
: u 3 K 3 
 �6 U 
 D ���6 F<( :%4 3 �6 U � � ���6  AHJ: ( 4%4 90/L9>G : � /Fu 3 K 3 9 6 ( = KL90*-9 :Q8 6 ,%| = K G�|%. 3 � ( 6L6 G2*B9 �
(�/ 3B4 : 9 /Fu 3 (+* u 6 ,%| 6 , 6 / 3 � �� 
K u 3-: /Fu 3 � 6 ,%| 6 , 6 / 3 � 6 (�K 3 9 4%3-: /F90*
(+. � ( 6 G���/ 3-: u%( =%=�3-:%6 9 :_= KL(+*B/L9>* 3�� /Fu 3 ��( 6 / 3 K
� G�KL�l,�. (�/L9>G : | 3 *-G+� 3B6 ( 8�3-:%3 KF(+.�9 : / 398�3 K = KLG 8 KL(+�   H � � � U YKY6Y�U � � ( :%4 � � U Y6Y6Y:U
� � U � U W���6Z\�619�; � . 3 / ��6QU 5 ���� � � �6   tvu 3-: /Fu 3 ��( 6 / 3 K / ( 2 3 /Fu 3 � G�K �

��9 : 
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H ��/Fu 3�: ,%.>. x+3 * /FG�KA9 6 ( 6 G�.>,2/F9>G : G�� � � 90/���(�,�| 3 G�� 90/ / 3B4 � K G���/Lu 3 � G+KL�l,%.>(�/F90G : ( :%4 /Fu 3
( 8 8 K 398 (�/ 3-4 *-G :\x+3 =290/B,�*BG :%6 /LKF(+9 : /���(�,R| 3 K 3-= . (+* 3-4 | , 5 6:9<; ��6 � �  

� �



' �������$����� � �I���<�����m�]�$�
������� % �
� ��� �Z	��)�����*�
E 90.>� G�K 3 ( :%4 E G�� G�KZ, D �
� ���B�F��� � b F'- � � 1�- �Mb 1 = K 3B6L3-: / ( N&K 6 / ( =%= .09>*-(�/F90G : G+��~5( : / RB9 8��
K G+.0� 3 ��� 4%3 *BG�� = G 6 90/F90G : /FG�( : 9 : / 398+3 K = KLG 8 KF(+��� G+K�/Lu 3 *B,�/L/L9 :<8Z6 /LG2*32 = K G�|%. 3 �   tvu 3 ,
, 6L3B4 9 /8/LG}G�|�/ (�9 : ( x�3 KZ,P/L9 8 u\/8.>G : 3 K5|�G+, :%4 ( :%4�x+3 KZ, 8 G2G 4 u 3 ,%KL9 6 /L9>* 6 G�.>,�/L9>G :�6-  tvu 3
|%9 : = (+*32@9 :<8q= KLG�|�. 3 � :A3 9 : /FK G 4 ,%* 3B4 9 : 7
3 *B/L9>G :X�� 0� 9 6 ( 6L=�3 *-9>(+.#*
( 6 3 G+�v/Fu 3 *-,�/ /F9 :<8
6 /LG2*32 = KLG�|%. 3 � /Lu&(�/ :A3�= K 3-6 3-: / : G :D 

7 , =%= G 6 3 /Lu&(�/ ( = ( =�3 K D / 3 =2/L9>. 3 F *-G�� = ( : ,�u%( 6 ( 6 , =%= .A,�G���. (�K 8�3 K G�.>. 6 G+� = ( =�3 K#G�� : 9 4 /Fu
�l� |�,�/A/Lu&(�/#*-, 6 /FG+� 3 K 4%3 � ( :%4 9 6 � G+K = ( =�3 KAG�� 6 ��(+.0. 3 K : 9 4 /Fu  �7 , =%= G 6 3 � 5 K G�.>. 6 G+� 6 /FKL9 =
G+� : 9 4 /Fu5� 5 � �l� P`Ug� X6Y4Y4Y X,[ :�3-3-4 /FGl| 38= K G 4 ,%* 3B4�  K 3 G�|�/ (�9 : 6 ��(+.>. 3 K�KLG�.0. 6 |-, 6 .>90*-9 :Q8
(]. (�K 8�3 KLG�.0.�, 6 9 :Q8 ( = (+K /F90*-,%.>(+K = (�/L/ 3 K :  �HJ:@x (+K 9 (+|�.A, � /Fu 3 *-,�/ /F9 :<8l= K G2* 3-6L6 9 :\x G�. x�3-6 6 G�� 3
: ( 6 / 3�  tvu 3 *BG�� = ( : , : G�,%. 4 .>9A2 3 /FG���9 : 9>� 9SR 3 : ( 6 / 3+� G�K 3 ?@,%9 x (�. 3-: /L.A, � /LG�� 3-3 / 4�3 ��( :%4
, 6 9 :<8 /Fu 3 � 3O: 3B6 / : ,��l| 3 K<G+� K G�.>. 6- 

W�:%3 : (�, /FGi� G�KL�l,�. (�/ 3 /Fu%9 6 = KLG�|%. 3 � D � G�K�/Fu 3I= ,%K = G 6L3 G+� 3 = = G 6 9 /F90G : F]9 6 /LG , 6 3 /Lu 3
� G�.>.0G : 9 :<8]x (+K 9 (+|�. 3-6 �� �^Ug� 90��KLG�.0. � 9 6 , 6 3-4���� G+/Fu 3 K : 9 6L3 ( :%4� �5 U /Fu 3Z: ,%�]| 3 K�G�� = 9 3 * 3-6 G+� : 9 4 /Fu+� 5 *B,�/�9 : KLG�.0. �� 
� 3 / � | 3 ( : , =%=�3 K |�G�, :%4 G : /Lu 3q: ,%�]| 3 K�G+��KLG�.0. 6 , 6L3B4 9 : ( : ,rG = /L9>��(+. 6 G�.0,�/F90G :� 
tvu 3-: � /Fu 3D= K G�|%. 3 � G+��� 9 : 90��9AR-9 :<8 /Lu 3D: ,%�l| 3 KvG+��KLG�.0. 6B� : u%90. 356 (�/F9 6 � ,
9 :<8�4�3 ��( :%4�� *-( :
| 3 � G�K �l,%.>(�/ 3B4 ( 6 �

� 9 : �

��� � � �6-  /  

�

��� � � �5 U � 5 ��P


5
� 5 � �5 � � � � � �
� �5 � � 5 � � ��P-X �
� �5 R S � ��P-X �
� � R W �:X-�.\ � �

� 3 / � U WVD � X�� F R S � � � W �:X
� \ � 5 5 � 5 ��5 � � �*X ( :%4 ��5 � � 5 � ��P0\@  tvu 3B:�� 
 D � F U
��9 : � W � � D � X�� F R � \@� /Fu&(�/89 6 
 D � F U � 90� D � X�� F U D �:X � F�( :�4 
 D � F U � G+/Lu 3 K : 9 6 3+� ( :%4
� U��� "!$#&% � U W�� R S � � � 5 5 � 5 ��5 � ��\@  tvu 3l6 3 /5G+��� 3 ( 6 90|%. 3Z6 G+.>,�/L9>G :%6 G+� � 9 6 � , 6 /
/Fu 3 6L3 /]G�� *-,2/L/F9 :<8I= (�/L/ 3 K :%6 /Lu&(�/ 6 (�/F9 6 � ,�/Fu 3 2 : ( =%6 (+*32i*-G :�6 /FKL(+9 : /  }7 9 : * 3 /Fu 3 ��(�/FK 9T=� � ( 6 6 G
*-9 (�/ 3-4�: 90/Lu 6 ,%| 6 , 6 / 3 � � 9 6 (Z, : 90/#� (�/FKL9 = � /Fu 3 K 3 9 6�: G 4 9 6 /F9 : *B/F90G : | 3 / : 3B3-: /Lu 3
= G+9 : / 6 G+� � �
W���6(\�6:9<; � ( :%4 /Lu 3 *BG�.>,%� :%6 G+�v/Fu 3 � ( 6 / 3 K � 3,6&D 3,6 K 3B= K 3B6L3B: / 6 (q*-,�/ /F9 :<8

� �



= (�/L/ 3 K : 9 : : u%90* u 3 5 68= 9 3 * 3-6 G+� : 9 4 /Lu � 5 (+K 3 *B,�/5� KLG�� ( = ( =�3 K�KLG+.>.�G+� : 9 4 /Lu � F   tvu 3
*-,�/ /F9 :Q8R= (�/ / 3 K : 3,6 9 6 � 3 ( 6 9>|�. 3 90� 5 5 � 5 3 576 � �l  tvu 3 ( 6L6 G2*B9 (�/ 3-4 *BG 6 / 
 D 3�6 F�9 6]� 9 � 3,6 9 6
: G :�: ,%.>.  �H ��G :%3D4 G 3B6v: G+/<9 : *-.0, 4%3 /Lu 3D: ,�.>. = (�/L/ 3 K : 9 : 7 � /Lu 3 � ( 6 / 3 K 9 : / 3�8�3 K = KLG 8 KL(+�
9 6

� 9 : 

6:9<; ��6

6-  /  
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E 9 x�3-: /Fu 3 *BG 6 / 6 /FKL,�*B/F,�K 3+� /Lu 3 ( 8 8 K 398 (�/ 3-4 *-G :@x+3 =290/B,I*BG :%6 /LKF(+9 : /<� (�,R| 3D4 KLG =%=�3B4� 

tvu 3 . (�/L/ 3 Kv� G�KL�l,�. (�/L9>G :;D : 9 /Fu%G+,�/�/Lu 3 *BG :\x�3 =�9 /B,P*BG :%6 /LKF(+9 : /GFv9 6 � K 3 ?@, 3B: /F.A,!, 6 3-4 9 : /Fu 3
.>90/ 3 KL(�/F,%K 3 /LG = K 3-6 3-: /5/Fu 3 *-,�/ /F9 :<8 6 /FG
*32 = K G�|%. 3 �   tvu 3 � ( 6 / 3 K H �T� G�K �l,%. (�/F9>G :J: 9 /Fuq(
. (+K 8�3D: ,��l| 3 K<G+� *BG�.>,%� :%6 9 6v3 ?@,%9 x (+. 3-: /</FG�/Fu 3 ��G+K 3 *-G�� = (+* /v� G�KL�],%. (�/L9>G :&:A3Z6 / (�K / 3B4
: 90/Fu   K 3 , 6 ,&(+.>.T,RK 3 � 3 K /LG�/Fu 3 *-G+� = (�*B/ � G�K �l,%.>(�/F90G : ( 6 /Lu 3 G�KL9 8 9 : (�.�G�K /Lu 3 9 : 90/F9>(+.)� G�K �
�l,%. (�/F9>G :� 6C G : 3 x�3 K � G :%3 *
( : (+. 6 G x 9 3�: /Lu 3 ��( 6 / 3 K�� G�KL�l,�. (�/L9>G :�: 90/Lu�(8.>(+K 8�3#: ,%�l| 3 K�G+�
x (�KL9 (�|%. 3B6 ( 6 /Fu 3�: (�/F,%KL(+. 6 / (+K /F9 :Q8 � G�KL�l,�. (�/L9>G : 9 :%6 / 3 ( 4 G���*BG :%6 9 4%3 KL9 :Q8 9 /�( 6 /Lu 3 K 3B6 ,%. /�G+�
( x (+K 9 (+|%. 3 /FKL( :%6 � G�KL��(�/F90G :�  tvu�9 6 9 678�3B:%3 KL(+.>.T, /Fu 3 *-( 6L3 � G�K /Lu 3 *B,�/L/L9 :<8�6 /FG
*32 = KLG�|�. 3 �  
HJ: [ u&( = / 3 K b �-: u 3 K 3^: 3�= K 3B6L3B: /v( 6 G+.>,�/L9>G : � 3 /Fu�G 4 � G�K�/Fu 3�H � � ( 6 / 3 K � : 3�6 u&(+.0.�( 4 G = /
/Fu 3 .>(�/L/ 3 K = G�9 : /8G+� x 9 3�:D��6 / (+K /F9 :Q8 9>� � 3-4 9>(�/ 3 .A, � K G�� ( � ( 6 / 3 K H �T� G�KL�],%. (�/L9>G : : u%90* u
9 :\x G�. x�3B6 (�. (�K 8�35: ,%�l| 3 K<G+��*-G+.>,%� :%6- 
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HJ: /Fu%9 6�723 * /F90G :��M:A3v= K 3B6L3B: /�|%( 6 90* /Fu 3 G�K 3 /F90*
(+.
K 3B6 ,%. / 6-  K 3 6 u%G : /Lu&(�/�/B, = 9>*
(�.>.A,D/Lu 3 ��( 6 �
/ 3 KvK 3 � G�K �l,%.>(�/F90G : G�� -�	 1�u&( 6 ( 6 /LKLG :<8+3 Kv��� K 3 .>(>=�(�/F90G : /Lu&( : /Lu 3 9 : 9 /F9>(+.&��G+K 3 *BG�� = (+*B/
� G�KL�l,�. (�/L9>G :� !HJ: /Fu 3}= KLG
* 3-6 6-��:A3}4 9 6 *-, 6 6�6L3Bx+3 KL(+. 6 G�.0,�/F90G : � 3 /Lu%G 4%6 � G�K = KLG�|�. 3 � -
	 1
/Fu&(�/A. 3 ( 4 /FG 3 ?@,%9 x (+. 3-: /#K 3 .>(>=�(�/F90G :%6B� 9  {3� 0� K 3 . ( =%(�/F9>G :%6 /Fu&(�/ = K G 4 ,%* 3 /Fu 3�6 (+� 3 |�G+, :%4 ( 6
/Fu 3 ��( 6 / 3 K����   tvu 3B6L3 K 3-6 ,%.0/ 6 (+K 3�:A3 .0. � 2 : G :<: |%,�/�9>� = G�K /F( : / /FG�K 3 � 3 �l| 3 K  

' ��� � �&�B�
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	 "A�����
��	 �R�
��� �$����� ���
tvu 3 .09 :%3 (+K = K G 8 KL(+��� 9 :Q8 K 3 . (>=�(�/L9>G : G�� /Fu 3 ��( 6 / 3 Kv9 6 G+��/Fu 3 � G�K �
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: u 3 K 3 
 6�U � 9 :�� ��� � � W � ��6 � �
�&�+��� � D ��6ZX�� X � F R � \@� ( :%4'3,6�U � ��6 � G�K 6 G�� 3 = G�9 : / ��6�R
� U �� "!$#&% � U W���6(\ � 9�;   � 3 / ������� U WVD � X�� � X�� � F R � � D � � X�� � F U<3  �&[ P � ���8� � � D � � �
�
� � ��� F \@  tvu 3-: 3 (+* u = G+9 : / ��6 R � 9 6 /Lu 3!= KLG � 3 *B/F90G : G : /Fu 3 �%�J6 = (+* 3 G+��( = G�9 : /
D ��6ZX��
6(X�� 6 F R ������� 6 ,%* uI/Fu&(�/ 
 6QU � ��6(���
�
6 � ��� 6-  _ G�K 3 G x�3 K �

���	��
 U � 9 : � �����
� �����
6-  /  � � U �

D � X��*X�� F U 5 6:9�; ��6XD ��6KX���6KX�� 6 F

619�; ��6 U �

��6 _ � � � R 7  
tvu&(�/�9 6

���	��
 U � 9 : W � �����
� � ��� � � � U � X/D � X��*X�� F R 
 ! � 	 D ������� F \
� G+/ 3 /Fu&(�/<K 3-= .>(+*-9 :<8 
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9 : / 3�8�3 K = K G 8 KF(�� D 9   3+  /Lu 3 � G�KL�l,�. (�/L9>G : *-G : / (�9 : 9 :<8 G : .T,q/Fu 3 *BG�.>,�� :%6 /Fu&(�/Du%( x+3 | 3-3B:

� �



8�3-:�3 KF(�/ 3-4 FD|-,i|%KL( : * u � ( :%42� |�G�, :%4 : 9 /Fu%G+,�/ 8�3-:%3 KF(�/L9 :<8 ( : , :%3O: *-G+.>,%� :%6-  K 9 /Fui/Fu%9 6
u 3 ,�KL9 6 /F90* = K G2* 3-4 ,%K 3+� /Lu 3 ,qG�|�/F(+9 : ( = KLG x (+|%.T,qG = /F90� (+.$9 : / 398+3 K 6 G�.>,2/F9>G : 9 :P� G�,�/5G�� � �

9 :%6 / ( : * 3-6B 

tvu 3 , 6 3 G+�Z*-G�.0,%� : 8�3-:%3 KF(�/L9>G : /FG 6 G+. x�3 9 : / 3�8�3 K = KLG 8 KL(+� 6 /FGaG = /F90� (+.090/B,a9 6 K 3 * 3B: /  
��(+K 8�3 (+9>K .>9 :%3v6 /F( @ :<8�= KLG+|%. 3 � 6 2 : G :<: ( 6 *-K 3�: 6 * u 3-4 ,%.09 :<8]= KLG�|�. 3 � 6 ( 6 :A3 .0.�( 6 �l,%.0/L9 �
*-G�� � G 4 9 /B, :�3 / : G�KP2 U G : = KLG�|%. 3 � 6 u&( x�3 | 3B3-: / (+*32@. 3-4 | , *BG�.>,�� : 8�3B:%3 KL(�/F90G :�� � G+K
9 :%6 / ( : * 3<6L3B3 � (�K : u&(�K / 3 /   (+.  7D �
����� F - b 1�( :�4 - � 1   ~ 398 KF( 3 x�3!D ���+� � F - � � 1)*BG :%6 9 4%3 K 6�6 G�� 3
= KLG 4 ,%* /F90G : 6 * u 3B4 ,%.>9 :<8m= KLG�|�. 3 � 6- aHJ: - ��� 1 � 0 ( : * 3�3 /   (�.   D ����� � F = KLG = G 6L3 ( : 3 =%(�*B/
G = /L9>� 9SR
(�/F9>G :m= KLG
* 3-4 ,%K 3 � G�KZ/Fu 3 |%9 : (�KZ, *-,�/ /F9 :Q8P6 /LG2*32 = KLG�|�. 3 �  �7 ( x+3 . 6 | 3 K 8 u D ����� b F
- ��� 1�/FK 3 (�/ 6 /Lu 3�8�3-:%3 KF(+.09SR 3-4 ( 6L6 9 8�: � 3B: / = K G�|%. 3 �  �� ,%� 3 KLG+, 6 ( =%= .>90*
(�/L9>G :�6 9 : KLG+,�/F9 :<8
( :%4m6 * u 3B4 ,%.09 :<8 (+K 3 *BG x+3 K 3-4 9 : (}K 3 * 3B: / 6 ,%K x�3 , G�� ~ 3B6 KLG 6 9 3 K 6Z3 /   (+.   D ������� F - � � 1z�Z/Lu 3
(+9>K *-KL(���/ U&3B3 /#( 6 6 9 8�: � 3-: / = K G�|%. 3 � � /Fu 3v= 90*32@, = ( :%4�4%3 .09 x+3 KZ, = K G�|%. 3 � � /Fu 3 ,%K |&( : /LKF( :%6 �
= G+K / (�/F9>G : = K G�|%. 3 � � /Lu 38x�3 u%9>*B. 3 K G�,�/L9 :<8�= KLG�|�. 3 � : 9 /FuR/F90� 3�: 9 :�4 G :<6-��3 /F*  #HJ: (�K 3 * 3-: /
6 ,%K x�3 , � � (+K : u&(+K / 3 /   (+.  �D �����+� F - � 1 = K 3B6L3B: /�( : , : 9AN 3B4 K 3Bx 9 3�: G+� 8�3-:%3 KF(+. H � *-G+.>,%� :
8�3-:�3 KF(�/F9>G : 9 4%3 ( 6 /Fu&(�/�u&( x+3 ( =�=�3 (+K 3B4 9 :}4 9AL 3 K 3-: /�*-G : / 3 =
/ 6- 

����� � ���
���`�
� ��
 ����� ����� �:� �
tvu 3 � (�9 : ( 6 =�3 *B/ZG+��/Fu�9 6�: G�KP2!9 6 /Fu 3�6 /F, 4 ,�G+�#*-G+.>,%� :�8�3-:�3 KF(�/F9>G : ( 6 ( /FG
G�.�/LG 6 G�. x+3
. (+K 8�3Z6 *
(�. 3 9 : / 398�3 K = K G 8 KL(+� 6 /FGRG = /F90� (+.090/B,   K 3 9>� = . 3 � 3-: /�( : (+. 8 G�KL9 /Fu%� *BG��l|%9 : 9 :Q8
*-G�.0,%� :�8+3-:%3 KF(�/L9>G : ( :%4 |%KF( : * u � ( :%42� |�G�, :�4�  K 3X8�3B:%3 KL(+.>9AR 3v= K 3Bx 9>G�, 6 K 3-6 ,�.0/ 6 /FG 3 =
/ 3-:%4
/Fu 3 *B. ( 6 6 G+� = KLG�|�. 3 � 6 /Fu%(�/<*
( : | 354%3 (�.0/ : 90/Lu}, 6 9 :<8 /Fu%9 6 ( =%= K G\(+* u   K 3 / 3B6 /</Fu 3 (�. 8 G �
KL9 /Fu%� � G�K$/Lu%K 3B3 /B, =�3B6 G+� = KLG�|%. 3 � 6 ��(</ 3 . 3 *BG����], : 9>*-(�/F90G :D:%3 / : G�KZ2 4%3B6 9 8�:]= K G�|%. 3 � = .0, 6
( x (+KL9>( : /�G+��/Lu 3l6 (+� 3�= KLG+|%. 3 � � ( 8 KL( = u = (+K /F9 /F9>G : 9 :<8�= K G�|%. 3 � ( :%4 ( 6 9 :<8 . 3 � � (�* u%9 :%3
�l,%. /F9 � 90/ 3 � .>G�/ �J6 9SRB9 :<8R= KLG�|%. 3 �   K 3 6 u&(+K 3 /Lu 3 9 :%6 9 8 u\/ 6 G+� G+,%KD*-G�� = ,�/F(�/F90G : (+. 3 = =�3 KL9 �
� 3B: / 6- 

� G+/Lu *BG�.>,%� :�8�3B:%3 KL(�/F90G : ( :%4 |%KF( : * u � ( :�42� |�G�, :%4 (+K 3 *BG�� ��G : / 3 * u : 9>?@, 3-6 /Fu%(�/Zu&( x�3
| 3B3-: ( =�= .>9 3-4 9 : 9 : / 398�3 K = K G 8 KL(+��� 9 :Q8 � G+K���( : , , 3 (�K 6- 
\ �]| 3B4%4 9 :Q8 *-G�.0,%� : 8�3B:%3 KL(�/F90G :
9 : /FG]|%KF( : * u � ( :�42� |�G�, :%4�6 G�, :%4%6 .09S2 3 ( 6 90� = . 3 *BG��l|%9 : (�/F90G : G�� :A3 .0. � 2 : G :<:�= K G2* 3-4 ,�K 3-6B 
HJ: ��(+* / � 9 /�9 6�: G+/ 6 /FKL(+9 8 u@/ � G�K : (+K 4�  tvu 3 |%KL( : * u � ( :%42� |�G�, :%4 9>� = .09>*-9 / 3-: ,%� 3 KL(�/F90G : � 3 * u �
( : 9 6 � 9 : / 3 K � 3 K 3-6�: 9 /Fuq/Lu 3 *BG�.>,%� : 8+3-:%3 KF(�/L9>G : � 3 * u%( : 9 6 �  �_ G�K 3 G x�3 K � ( 6 /Lu 3 *-G+.>,%� :
8�3-:�3 KF(�/F9>G :I= KLG
* 3-4 ,%K 3 9 6 K 3-=�3 (�/ 3-4 (�/ 3 (�* u : G 4%3 G+��/Fu 3 |%KL( : * u � ( :%42� |�G+, :%4 /FK 3B3+� 9 /v| 3 �
*-G�� 3-6<x�3 KZ,!9>� = G+K / ( : /</LG =�3 K � G+KL� 90/ 3 @�*B9 3B: /L.A,  ��A3 .>G : :A3 � 3-: /F90G : u�G : /Lu 3-6 3 9 6L6 , 3-6
u&( x�3 | 3B3-:I4%3 (�.0/ : 90/Lu = K 3 x 90G�, 6 .A,�( :�4!= G�9 : /vG+,�/�G�,%Kv*-G : /LKL90|%,�/F90G :%6B 

�
	



tvu 3 N&K 6 /�*-G : * 3 K : 9 : ( : H �j*-G�.0,%� :
8�3-:%3 KF(�/L9>G : (+. 8 G�KL9 /Fu%� 9 6 u%G : /FG 3 .>90��9 : (�/ 3 � KL(+* �
/F9>G : (+. 6 G+.>,�/L9>G :%6B  [ G :\x�3B: /F9>G : (+.�9 : / 3�8�3 K = KLG 8 KF(+� � 9 :<8 |%KL( : * u%9 :<8 |%( 6L3B4 G : x (�KL9 (�|%. 3
NQ=29 :<8 9 6<: G+/ 6 /FKF(�9 8 u\/L� G+K : (+K 4 /FG 9>� = . 3 � 3B: /v9 : ( *BG�.>,�� :J8�3B:%3 KL(�/F90G : *-G : / 3 =
/   HJ:%4�3-3-4 �
NQ=29 :<8 (P��( 6 / 3 K x (+K 9 (+|�. 3 /LG�R 3 KLGi*-G�K K 3B6L= G :%4%6 /LGP� G�KL|%9 4%4 9 :<8 /Fu 3 , 6L3 G+��( = (+K /L9>*-,�. (+K
*-G�.0,%� :  �C G :A3Bx�3 K � /Lu%9 6 *-G�.0,%� :�: 9>.0. = KLG�|%(+|%.A,�K 3 ( =�=�3 (+K ( 6 /Fu 386 G�.0,�/F90G : G��$/Fu 3 *-G�.0,%� :
8�3-:%3 KF(�/L9>G :�6 ,%| = K G�|%. 3 �   tvu 3-:�� G :�3 *-G�,�. 4�8�3B:%3 KL(�/ 3 /Lu 3 � ��� | 3-6 / 6 G+.>,�/L9>G : G��#/Lu 3 *BG�. �
,%� :E8�3B:%3 KL(�/F90G :�6 ,�| = KLG+|%. 3 � D�4�3-3-=�3 KD9 : /Fu 3 |%KL( : * u � ( :%42� |�G+, :%4 /FK 3-3+� G :%3 ��9 8 u\/ 3B:%4
, = 6L3 (+KL* u�9 :<8 � G�K5/Fu 3 � � B | 3-6 / 6 G�.>,�/L9>G : F   tvu�9 6 / 3 * u : 9>?@, 3 u&( 6 | 3B3-: , 6 3-4 9 : - � � 1A( :�4
- b � 1  �;X6L3 *-G :�4 ( =%= K G\(+* ul*BG :%6 9 6 / 6 G+��( 4%4 9 :Q8 *BG :%6 /LKF(+9 : / 6 /LG�/Lu 3 *BG�.>,%� : 8+3-:%3 KF(�/L9>G :Z6 ,%| �
= KLG�|�. 3 � 9 : G�K 4%3 K�/FG�� (M2 3 /Lu 3 /F(+K 8+3 / 3B4 *BG�.>,%� : 9 : � 3 ( 6 9>|�. 3+  C G : 3 x�3 K � 9 /���(�, 4%3-6 /FK G ,
/Fu 3Z6 /LKL,%* /F,%K 3 G+��/Fu 3 *BG�.>,%� :J8�3-:�3 KF(�/F9>G :!6 ,%| = K G�|%. 3 �   '&G�Kv9 :%6 /F( : * 3�� 9 : /Fu 3 *-G : / 3 =
/�G+�
/Fu 3 *B,�/L/L9 :<8q6 /FG
*32 = KLG�|�. 3 � � 9 / 3 .>9>� 9 : (�/ 3B6 /Lu 3R= G 6L6 9>|%90.>9 /B,�G+� 6 G+. x 9 :<8 /Fu 3 6 ,%| = KLG�|%. 3 �
3 =�(+*B/L.A,}|-, 4 , : (���90* = KLG 8 KF(+� ��9 :<8% 

; .0/ 3 K : (�/ 3 |%KF( : * u%9 :Q8R6 * u 3 � 3B6 u&( x�3 | 3-3B:P3 = = .0G�K 3B4� 8HJ: /Fu 3 9>K8K 3-6 3 (+K * u�G : KLG+,�/F9 :<8 ( :�4
6 * u 3B4 ,%.>9 :<8 = K G�|%. 3 � 6-� ~ 3B6 K G 6 9 3 K 6 3 /   (�.   D �
���+� F - ��� 1 = K G = G 6L3 /LGm/F(M2 3 /Fu 3 |%KF( : * u%9 :Q8
4%3 *B9 6 90G : 9 : /Lu 3 9 : 90/L9 (+.�*-G�� = (+* /�� G+KL�l,%.>(�/F90G : ( 6 G =%= G 6L3B4 /LG�/Fu 3 ��( 6 / 3 K<K 3 � G�KL�l,�. (�/L9>G :
( :%4 /LGqK 3 ( =%= .T,i/Fu 3 ~5( : / R-9 8�� K G�. � 3�4%3 *BG�� = G 6 90/F90G :m6 * u 3 � 3 /FGq/Lu 3 (+, 8 � 3B: / 3-4 9 : 9 /F9>(+.
� G�KL�l,�. (�/L9>G : /FG 4%3 N :�3 ( :%3O: � ( 6 / 3 K ��� � G�KL�],%. (�/L9>G : (�/ 3 (+* u : G 4�3 G+��/Lu 3 |%KL( : * u � ( :%42�
|�G�, :%4 /LK 3B3+ 

HJ: (�K 3 * 3B: / 6 ,�K x�3 ,qG :q6 G+. x 9 :<8 9 : / 398�3 K = K G 8 KL(+� 6 |-,I*-G�.0,%� : 8�3B:%3 KL(�/F90G :���� (+K : u&(+K / 3 /  
(+.   D �
���+� F - � 1 K 3 *-(+.>. ( :a3 (�KL.>9 3 K�K 3-6 ,%.0/lG+� � ,�( : ( :%4 '&G 6 / 3 K D ��� 	 � F - b
	 1 . 3 ( 4 9 :<8 /LGi(
|%KF( : * u%9 :<8!6 * u 3 � 3 9 : / 3 KL� 6 G�� /Fu 3 ��( 6 / 3 K x (+KL9>(+|%. 3B6-  tvu%9 6 � 3 /Fu�G 4 � G�KZ|%KF( : * u%9 :<8 9 6
x (�.>9 4 � G�Kv( ���F��6L3 / = (+K /L90/L9>G : 9 :<8 � G�KL�l,�. (�/L9>G :(: 90/Lu}KL9 8 u@/ � u&( :%42�J6 9 4%3B6 3 ?@,&(�. /FG �� �H / *-G :2�
6 9 6 / 6 G+� 6 3 . 3 *B/L9 :<8 / : G�KLG :<6 G+��/Lu 3 ��( 6 / 3 K8� G+KL�l,%.>(�/F90G :�  tvu 3-: � (+.>.�*-G�.0,%� :%6 /Lu&(�/�u%( x+3
( : 3B: /FKZ, G :%3 9 : |�G�/FurG+��/Lu 3 * u%G 6L3B: K G :<6 (+K 3I3 .>90��9 : (�/ 3B4 G : G :%3 |%KL( : * u �`: u 3 K 3 ( 6B�
G : /Fu 3 G�/Fu 3 Kl|%KF( : * u � (+.>.#*-G+.>,%� :%6 /Lu&(�/�u%( x+3 ( :a3-: /LKZ, G :%3 9 : G : .A, G :%3 G+�v/Fu 3 K G :<6
(+K 3R3 .>90��9 : (�/ 3B4�  tvu�9 6 |%KL( : * u%9 :<8�6 * u 3 � 3 u&( 6 ( : (�/F,%KL(+. 9 : / 3 K = K 3 / (�/L9>G : 9 : /Fu 3 9 : 9 /F9>(+.
*-G�� = (+* /�� G+KL�l,%.>(�/F90G :� 

tvu 3 |�KF( : * u�9 :<8�6 * u 3 � 3�:A3A= KLG = G 6L3 9 : /Lu%9 6 /Lu 3-6 9 6 9 : *-.>, 4%3-6 /Fu 3�� ,\( : ( :�4 '&G 6 / 3 K$|�KF( : * u �
9 :<8 6 * u 3 � 3 ( :�4 ��G+K 3+  H /}(�.>.>G :<6 , 6 /LG = K 3-6L3B: /I( : , : 9TN 3-4 x 9 3�: G+� x (+K 9>G�, 6�6 9>� = . 3
|%KF( : * u%9 :<8 K ,%. 3B6- E_ G�K 3 G x+3 K � 9 / = KLG x 9 4%3B6 ( : (?, G+� 4%3 (+.>9 :<8 : 9 /Fua( : 3 =
/ 3B:%6 90G : G+�v/Fu 3
6L3 / = (+K /F9 /F9>G : 9 :<8�= KLG+|%. 3 � 9 :�: u%90* um/Lu 3�x (�KL9 (�|%. 3B6 ( 6�: 3 .>.�( 6 /Lu 3 KL9 8 u@/ � u&( :%42�J6 9 4%3B6 (+K 3
8�3-:%3 KF(+.A9 : / 3�8�3 K 6-  K 3 3 x�3B:r3 =
/ 3-:�4 /Fu 3R6 * u 3 � 3+� 9 : /Fu 3 G�K , � /LG�(q� G 4%3 . : 9 /Fu 8�3-:%3 KF(+.
9 : / 3�8�3 K<��(�/FK 9T= 3-: /FK 9 3-6B�<: u%9>* uI9 : *-.>, 4%3-6 /Fu 3 8+3-:%3 KF(+.$9 : / 398�3 Kv*-,�/ /F9 :<8�6 /FG
*32 = K G�|%. 3 �  

� �



tvu 3 *-G�.0,%� : 8�3-:%3 KF(�/L9>G : (+. 8 G�K 90/Fu�� : u�9>* uI9 6 ( =�= .>9 3-4 (�/ 3 (+* u : G 4%3 G+��/Lu 3 |%KF( : * u � ( :�42�
|�G+, :%4 /LK 3-3 K 3 ?
,�9>K 3B6 G :�3 /FG 6 G�. x�3 /Fu 3 � ( 6 / 3 K�.09 :%3 (+K = KLG 8 KF(+� ( :�4 /Fu 3!6 ,%| = KLG�|�. 3 �
9 : / 3�8�3 K = K G 8 KL(+� (�/ 3 (+* u 9 / 3 KL(�/F90G :�  ~�, 3 /FGD/Fu 3 /B, = 90*
(+.0.A,l.>(+K 8+3v: ,��l| 3 K�G+��*BG�.>,%� : 8�3B:2�
3 KL(�/F90G : 90/ 3 KF(�/L9>G :�6 G+��/ 3B: :�3-3-4�3-4 /LG = KLG x�3 ��� G = /L9>��(+.>9 /B, � 90/D9 6 90� = G�K / ( : /�/LG =�3 K � G�KL�
3 (+* u�90/ 3 KF(�/F9>G : ( 6A3 @�*B9 3B: /L.A,�( 6A= G 6L6 9>|%. 3+� G�K �+( :%4 /FGZ.>90��9 / /Fu 3�: ,%�l| 3 K#G+� 90/ 3 KF(�/L9>G :�6XD 9   3+ 
/Fu 3 /F(+9>.09 :<8�� GML 3 L 3 * /GFv( 6 �l,%* u!( 6<= G 6L6 90|%. 3� 

� (+K : u&(+K / 3 /   (+.   D ������� F�- � 1 = KLG = G 6L3 / : Gm(+.0/ 3 K : (�/F9 x�3�: (�, 6 /FG�9>� = K G x+3 /Fu 3}3 @ *-9 3-: *O,
9 :m6 G�. x 9 :<8 /Fu 3 ���vy 6 � 3 � = .0G , 6L=�3 *-9>(+.>9AR 3B4m6 9>� = . 3 = = K G2* 3-4 ,%K 3-6 /Fu&(�/ 3 = = .>G�9 /Z/Lu 3 = KLG�| �
. 3 � 6 /LKL,%* /F,%K 3+� ( :�4 (+. / 3 KD/Lu 3 � ( 6 / 3 K = KLG�|%. 3 � � G�K �l,%.>(�/F90G : /FG!K 3B4 ,%* 3 /Fu 3 : ,%�l| 3 KZG+�
*-G�.0,%� :%6-  K 3 u%( x+3v: G+/
, 3 /�/LKL9 3B4 /FG59 : *-G+K = G�KF(�/ 3 /Lu 3-6 3<3-: u&( : * 3 � 3B: / 6 9 : G�,�K (+. 8 G�KL9 /Fu%�  

HJ:!6 G�� 3 ( =�= .>90*
(�/L9>G :%6B� /Lu 3�6 ,%| = K G�|%. 3 � 6 G�.>,�/L9>G : 9 6�: G+/</FG
G *BG�� = ,�/ (�/F9>G : (+.>.T, 9 : / 3B:%6 9 x�3
( :%4 � G 6 / G+�8/Fu 3 (+. 8 G+KL90/Lu%� 3 L G�K / 9 6 6 =�3B: / G :_6 G�. x 9 :Q8 /Lu 3 ��( 6 / 3 K����   K 9 /Fu G+/Fu 3 K
( =%= .09>*-(�/F90G :%6-��6 ,�* u ( 6 /Fu%G 6L3 :A3 /FK 3 (�/59 : /Fu�9 6 /Lu 3-6 9 6-� /Fu 3 *BG�� = ,�/ (�/F9>G : (+.�|�G�/L/F. 3-:%3 *32q9 6
/Fu 3}6 G�.>,2/F9>G : G+�</Fu 3}6 ,%| = KLG�|%. 3 �   tvu 3 *-G�.0,%� :
8�3-:%3 KF(�/L9>G : 6 ,%| = KLG�|%. 3 � 9 6 ( 4 9T@ *-,%. /
9 : / 3�8�3 K = KLG 8 KL(+�   HJ: /Fu 3 N&K 6 /#90/ 3 KL(�/F90G :%6 G+��/Fu 3 *BG�.>,�� : 8�3B:%3 KL(�/F90G : (+. 8 G�KL9 /Fu%� � :A3 , 6L3 (
u 3 ,�KL9 6 /F90* = K G2* 3-4 ,�K 3 /LG 8�3B:%3 KL(�/ 3 *-G�.0,%� :%6-  � ,�/ � ( 6 *-G�.0,%� : 8�3-:�3 KF(�/F9>G : ( =�= KLG\(�* u 3-6 /LG
��� G = /L9>��(+.>9 /B, � 90/�| 3 *BG�� 3-6 u&(+K 4%3 K /LG�N :%4 :%398 (�/F9 x�3 K 3B4 ,%* 3-4 *-G 6 /�*-G�.0,%� :�6 u 3 ,�KL9 6 /F90*
(+.0.A,
( :%4 ( : 3 =�(+* /lG = /F9>� 9SR-(�/F90G :�= K G2* 3-4 ,%K 3 9 6 K 3 ?@,%9>K 3-4 /LG 8�3B:%3 KL(�/ 3�:%3�: *BG�.>,%� :%6B  tvu@, 6B�
90/59 6 *-K ,%*-9>(+.�/LG}*-G : /LKLG�. /F(+9>.09 :<8�� GML   t�GR/Fu%9 65= ,%K = G 6 3+� :A3 = KLG = G 6L3 (R|�G�, :�4 9 :<8}6 * u 3 � 3
|&( 6 3-4 G : ��( 8 KF( :Q8�3 ( :!4 ,&(+.090/B,�( :%4 :A3l4%3 K 9 x+3 *-G :%4 90/L9>G :�6 � G+K 3 (+KL.T,I/ 3 K ��9 : (�/F90G : G+� /Lu 3
*-G�.0,%� :�8+3-:%3 KF(�/L9>G : = KLG
* 3B4 ,%K 3+ `_ G�K 3 G x�3 K � : 3�6 u%G : /Fu%(�/�/Fu 3B6L3 / 3 K ��9 : (�/F90G : *-G :%4 90/L9>G :�6
*
( : | 353 = = K 3B6L6 3-4 9 : / 3 K � 6 G+� ( = KL90G�KL9�|�G+, :%4%6 G : /Fu 3 *BG�.>,�� : 8�3B:%3 KL(�/F90G :�6 ,%| = KLG�|�. 3 �
x (+.>, 3� 

tvu 3R=�3 K � G�KL��( : * 3 G+�v/Lu 3 H � *BG�.>,%� :
8+3-:%3 KF(�/L9>G : (+. 8 G+KL90/Lu%� ��(�,i| 3 9>� = KLG x�3B4 |-, � , �
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K 3-= K 3-6 3-: /D/Fu 3 K 3 ��(+9 : 9 :<8 * u&(+KL(+*B/ 3 K 9 6 /L9>* 6 G+� S 6 D G = /F90G : (+. F  �HJ: /Fu 3 ��G 4%3 . :A3 *-G :�6 9 4�3 K �
/Fu 3l6 3 /5G���� 3 ( 6 9>|%. 3]6 ,�| 6L3 / 6 *
( : | 3�4%3-6 *-KL90| 3B4 9>� = .>90*-90/L.A,�|-,P( � 9T= 3B4 9 : / 3�8�3 K = KLG 8 KF(+� �
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: u 3 K 3 � K 3B= K 3B6L3B: / 4�3 *-9 6 90G :�x (+K 9 (+|%. 3-6#4%3 N : 9 :<8 /Fu 3�6 ,%| 6L3 / �"� ( :%45� K 3-= K 3-6 3-: /<(+,V=290.>9 (�KZ,
x (+KL9>(+|%. 3B6-� � X � X ( :%4 � K 3-= K 3-6 3-: /�/Fu 3 ( 6 6 G
*-9>(�/ 3B4 *-G 6 / x�3 * /FG�K 6-� ( :%4 � 9 6 ( = G�.T,
u 3-4 K G :
/Fu&(�/ *
( : | 3A4%3-6 *-KL90| 3B4 |-,l.>9 :%3 (�K�9 :%3 ?@,&(�.>90/L9 3B6- �HJ: [ u&( = / 3 K �+�M: 3 , 6L3B4 6 9>� 9>.>(+K : G+/F(�/F90G :%6-�
. 3 /L/F9 :<8 � U � . D�W �:X
� \ � � S �	� � S ��
 � F   ;8: , � 3 ( 6 9>|%. 3�x+3 * /FG�K � G+��/Fu 3 (+|�G x�3 G = /F90��9AR
( �
/F90G :P6 ,�| = KLG+|%. 3 � 4%3 N :%3B6 ( � 3 ( 6 9>|%. 3]6 ,�| 6L3 / S 6 K 3-= K 3-6 3-: / 3B4 |-, 
 6 U 
 D � F �+3,6�U ��� ( :%4
 6 U D � � X�� � F U 3  6�&[ P � � ��� � ��W � � � �
��� ���:X�D � X��*X�� F R � \@  � 3 / WVD 
 6ZX 3,6ZX  6 F \�619�; | 3 (
*-G�� = . 3 / 3 .09 6 / G+��(+.0. � 3 ( 6 9>|�. 3D6 ,%| 6L3 / 6-  t+, = 9>*-(+.>.T, � /Lu 3�6 9SR 3 G+�&7 9 6 . (�K 8�3�� /Fu 3Z: ,%�l| 3 K�G+�
� 3 ( 6 9>|%. 3l6 ,�| 6L3 / 6 8 KLG : 9 :<8}3 = = G :%3-: /L9 (+.0.A, : 90/Fu [� �HJ:E8�3-:%3 KF(+. � /Fu 3�= KLG�|�. 3 � 9 6I: 3 .>. 4%3 �
N :%3B4 9 �)G :%3 9 6 (+|%. 3 /FG 3B: ,%� 3 KF(�/ 3 (+.>.@/Fu 3 � 3 ( 6 9>|%. 3 6 ,%| 6L3 / 6�3 90/Lu 3 K 9>� = .>90*-90/L.A,8G�K 3 = = .09>*B90/F.T,  

E 9 x�3B:�S)� � � ( :%4 � 5`RTS � � P � /Fu 3#= K G�|%. 3 � *-G :�6 9 6 / 6 G+�<N :%4 9 :<8 (�� 9 : 90�l,%� *BG 6 / 6L3 . 3 * /F90G :
G+� 6 ,%| 6L3 / 6 /Lu&(�/v*BG x+3 K 6�3 (+* u 3 . 3 � 3B: / P�3 =�(+*B/L.A, � 5 /F90� 3B6-  � 3 /L/F9 :<8 ��6v3 ?@,&(+. /Lu 3D: ,��l| 3 K
G+��/F9>� 3-6v6 ,%| 6 3 /8�l9 6v6 3 . 3 *B/ 3-4�� :A3 G�|2/ (+9 : ( : 9 : / 398+3 K = K G 8 KF(���� 9 :<8 � G�KL�l,�. (�/L9>G : �

� U � 9 : 
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K 90/Lu%G�,�/�.0G 6 /�G�� 8�3B:%3 KL(+.>9 /B, �-:A3 u%( x+3 ( 4%4%3-4 *-G :%6 /LKF(+9 : / 6ID �
	 F ( :%4�D � � F = K G x 9 4 9 :Q8 .>G : 3 K
( :%4 , =%=�3 K�|�G�, :%4�6 G : /Lu 3 /FG+/F(+. : ,%�l| 3 K�G�� 6 3 . 3 *B/ 3-4 6 ,%| 6 3 / 6- `\ ?
,%(�/F90G :%6ID � � F�K 3B= K 3B6L3-: /
/Fu 3�= (+K /F90/L9>G : 9 :<8 *BG :%6 /LKF(+9 : / 6-  tvu 3�6 /F( :%4 (+K 4 6L3 / = (�K /F9 /F90G : 9 :Q8}= KLG�|�. 3 � ( 6L6 ,�� 3B6 /Fu%(�/
(+.>. � 5 (+K 3�� ( :%4 /Fu&(�/</Lu 3 � y 6 (+K 3 K 3-6 /LKL90*B/ 3B4 /LG�| 3 R 3 KLG G�KvG :%3� 
H /�9 686 /LKF(+9 8 u\/L� G�K : (�K 4 /LG 6L3B3 u%G : /Lu%9 6 ��G 4%3 .�9 : *-.0, 4%3-6 /Fu 3 ( =%= .09>*
(�/F9>G :%6 � G�KL�l,�. (�/ 3-4 9 :
[ u&( = / 3 K �   � G+/ 3 /Fu&(�/�� G 4%3 . - /21 3 x�3B: (+.0.>G :<6 , 6 /LGD/LK 3 (�/ = K G�|%. 3 � 6
: 9 /Fu : G :2� 9 4%3-: /F90*
(+.
6 ,%| 6 , 6 / 3 � 686 ,�* uP( 6 /Fu 3�6 9 :<8 . 3 � � (+* u�9 :%3 �l,%.0/L9 � 90/ 3 � .>G+/ �J6 9AR-9 :<8 ( =%= .>9>*-(�/F90G :� �� ,%� 3 KLG+, 6
G+/Fu 3 K�( =%= .09>*-(�/F90G :%6 *-( : | 3 ��G 4%3 . 3-4 |-, -0/21   t�G *-9 / 3 G : .T,RG :�3+� : 3 � 3-: /F90G : /Fu 3D6 9 :<8 . 3
4%3-= G+/�*
( = (+*-9 / (�/ 3Zx+3 u%90*-. 3 KLG+,�/F9 :<8�= KLG�|%. 3 �   HJ: /Lu%9 6 *
( 6L3+� S K 3B= K 3B6L3-: / 6 ( 6 3 /�G�� *-.09 3B: / 6
/FG : u%90* u G :%3 �l, 6 / 4%3 .>9 x+3 K 8 G
G 4�6 � KLG�� ( 4%3B= G�/ � ( :%4 � 5�U � � PL �; 6 ,�| 6L3 /]G+�A*-.09 3B: / 6
9 6 � 3 ( 6 9>|�. 3 90��/Fu 3 /LG+/ (+. 4�3 ��( :%4 G+�8/Lu 3-6 3 *-.09 3B: / 6�4 G 3B6�: G+/ 3 =2* 3B3-4 /Lu 3 *-( = (+*B90/B, G+�8(
x�3 u%9>*B. 3+  tvu 3 ( 6L6 G2*B9 (�/ 3-4 *BG 6 /�9 6 /Fu 3 . 3B:<8 /Fu G+�</Fu 3R6 u%G�K / 3-6 /�KLG�,2/ 3 6 / (+K /F9 :<8 � KLG+� /Lu 3
4%3-= G+/ �
x 9 6 90/L9 :<8 /Fu 3B6L3 *-.>9 3-: / 6 ( :%4 3-:%4 9 :<8 (�/A/Lu 3�4�3-= G+/  `W�:%3 *
( :H8�3-:%3 KF(+.09SR 3 � G 4�3 .�-0/21
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� ,%K /Lu 3 K�|-,�. 3 /L/F9 :<8 /Fu 3�3B: /FKL9 3-6 3 5 6 | 3<= G 6 90/L9 x+3 9 : / 3�8�3 K 6-  tvu 3 � G 4%3 . : G�,%. 4 /Fu 3-: 9 : *B.>, 4%3
/Fu 3 *-,2/L/F9 :<8�6 /LG2*32 = K G�|%. 3 � = K 3-6 3-: / 3B4 9 : [ u&( = / 3 K �+ 

� ��� � ������� � ��� � � � � �`��� ��
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� ����� � 
��&�:� � � �

H � : 3�4 KLG = /Fu 3 9 : / 3�8�3 KAK 3-6 /FK 9>*B/L9>G :�6 9 : _ G 4%3 . -0/21 � /Fu 3 K 3-6 ,%.0/L9 :<8 .>9 :%3 (�K = KLG 8 KL(+� -0/ ��
 1
9 6�: G+/�/FK 9 x 9 (�.A/FG 6 G�. x+3+ rH /�u%( 6 /B, = 90*
(+.0.A, ( x+3 K , . (+K 8�3}: ,%�l| 3 K G+� x (+K 9 (+|�. 3-6B��3 (+* u G+�
: u%9>* u�9 6 ( 6 6 G
*-9 (�/ 3-4�: 9 /Fu 6 G�� 3 � 3 ( 6 9>|�. 3Z6 ,%| 6 3 / S 6 D 9   3+  ( � 3 ( 6 9>|%. 3]6 G+.>,�/L9>G : 9 : � F  D7 G �
90/�9 6�= KF(+* /F90*
(+.0.A,R90� = G 6 6 9>|�. 3 /FG 8�3-:%3 KF(�/ 3 /Lu 3�3B: /F9>K 3 � G 4�3 .   HJ:%6 / 3 ( 4�� /Fu 3 � ( 6 / 3 K8���T9 6
6 G�. x�3-4 |-, 8�3B:%3 KL(�/F9 :<8 /Fu 3 *BG�.>,%� :%6 9 � ( :%4 : u 3-: /Fu 3 ��� 6 G�.>,2/F9>G : � 3 /Fu%G 4}:%3-3B4%6 /Fu 3 � �
(�/ 3 * u : 90?@, 3 /Lu&(�/<9 6 *
(+.0. 3-4 =@+93MC&1  $&#( >#('0/."8�%+9  

tvu 3 *-G�.0,%� : 8�3-:%3 KF(�/L9>G :X= KLG
* 3B4 ,%K 3i6 / (+K / 6H: 9 /Fu ( 2 : G :<: |%( 6 90*q� 3 ( 6 9>|%. 3q6 G�.>,�/L9>G : G+�
/Fu 3 .09 :%3 (+K]K 3 . ( =%(�/F9>G : G+�</Fu 3 ��( 6 / 3 K - / � 
+1   tvu%9 6 9 : 9 /F9>(+. 6 G�.0,�/F90G : *
( : | 3 8�3B:%3 KL(�/ 3B4
| , 6 G�. x 9 :<8 /Fu 3 *BG�KLK 3-6L= G :%4 9 :<8R= u&( 6L3}�]= KLG�|�. 3 � � 9   3+  � 9 : 90/F9>(�/F9 :<8 /Fu 3 � G�KL�l,�. (�/L9>G :J: 90/Lu
( =%= K G = KL9>(�/ 3 (+K /F9AN%*-9 (�.$|&( 6 90* x (+K 9 (+|%. 3-6 ( :%4 , 6 9 :<8 /Fu 3 *-G+.>,%� : 8+3-:%3 KF(�/L9>G : (+. 8 G+KL90/Lu%� /LG
6 G�. x�3 /Fu%9 6 (+, 8 � 3-: / 3B4 = KLG�|%. 3 � : 90/Fu ( : (+K /F9AN%*-9 (�. G�| � 3 *B/L9 x�3 � , : * /F90G : =�3B: (+.>9AR-9 :<8 /Fu 3
= K 3B6L3-: * 3 G���(+K /F9TN&*-9>(+. x (+K 9 (+|�. 3-6 9 : /Fu 3 |&( 6 9 6B  ; . / 3 K : (�/L9 x+3 .A, � G :%3 *-( :(8�3-:%3 KF(�/ 3 (D� 3 ( 6 90|%. 3
6 G�.0,�/F90G : u 3 ,%K 9 6 /F9>*-(+.>.T,RG�K<*BG��l|%9 :%3 /Fu 3Z= u&( 6 3 �Z= KLG+|%. 3 � : 90/LuI/Lu 3�= u&( 6L3 � = KLG�|%. 3 � ( 6
: 3Z6 u&(�.>. 6 3-3 9 : /Fu 3D:%3 =
/�[ u%( = / 3 K  

HJ: 90/L9 (+.0.A, � /Fu 3 � G+KL�l,%.>(�/F90G : G+�)/Lu 3 .>9 :�3 (+K = KLG 8 KL(+�c*-G : / (�9 :%6 G : .T,l( 6 ,%| 6L3 / G���/Lu 3v= G 6L6 90|%. 3
*-G�.0,%� :�6 �7 � 7 � 9  {3�  /Fu 3 |&( 6 9>*<� 3 ( 6 9>|%. 3<6 G�.0,�/F90G :�= .>, 6#3Bx+3-: /F,&(�.>.A,�(D� 3�: G+/Lu 3 K#*-G�.0,%� :%6- 
K 3 K 3 � 3 K</FG 90/�( 6 /Fu 3 ',#@2(" '(�%=("�#-B���( 6 / 3 K���� � / � 
 D �7!F  A;84%4 90/F90G : (+. *-G�.0,%� :�6 (+K 3 8�3-:�3 K �
(�/ 3B4 ( 6<4%3B6 *BKL9>| 3-4 | 3 .>G :D 

tvu 3 (+. 8 G�KL9 /Fu%� = KLG
* 3B3-4%6 |-, = K 9>*-9 :<8 G�,�/ /Lu 3Ax (+K 9 (+|�. 3-6 D *-G�.0,%� :�6 F�/Fu&(�/ (+K 3#: G+/ *-,%K K 3B: /L.A,
9 : /Lu 3 � G�K �l,%. (�/F9>G :�� 9 : G�K 4%3 K�/FG}* u 3 *32!/Lu 3 G = /L9>��(+.>9 /B,}G+��/Lu 3 *-,�KLK 3B: /D|&( 6 9 6-  _ G 6 /D���
6 G�. x�3 K 6v= KLG 4 ,%* 3 /Fu 384 ,&(+. 6 G�.>,2/F9>G :�D /Lu 3�6 u&( 4 G : = KL90* 3-6 F ( 6 (l|-, �J= K G 4 ,%*B/vG���/Lu 3�= K 9>��(+.
G = /F90��9AR
(�/L9>G :   7 G (���/ 3 K 6 G�. x 9 :<8 /Lu 3 K 3-6 /FK 9>*B/ 3-4 ��( 6 / 3 K���� � / � 
 D �7 F � /Fu 3Zx (+.>, 3B6 G�� /Fu 3
4 ,&(+. x (+KL9>(+|%. 3B6 (+K 3 *-G�.0. 3 *B/ 3B4�  � 3 / D
��X � X�� F R S � � � S � ��

� S � �� | 3 /Fu 3�4 ,&(+. x (+K 9 (+|%. 3-6
( 6L6 G2*B9 (�/ 3-4
: 9 /Fu � K 3-6 =�3 *B/F9 x�3 .A, � /Lu 3 = (+K /L90/F90G : 9 :<8 *-G :%6 /FKL(+9 : / 6&D � � F�( :%4 /Fu 3 , =%=�3 K�( :�4
.>G : 3 K<|�G�, :%4 *-(+K 4 9 : (+.090/B,�*-G :�6 /FKL(+9 : / 6 D �
	 � � � F  

H �5/Fu 3I= KL90� (�.vG = /F90� (�.>90/B, *-G :%4 90/L9>G : u%G�. 4%6-� 9   3+  � /Fu 3 ��9 : 9>�],%� K 3-4 ,%* 3-4 *BG 6 / 9 6 : G :2�
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/Fu 3 � ( 6 / 3 K ��� = KLG�|�. 3 �ju&( 6 | 3-3-:�6 G�. x+3-4�: 9 /Fu%G�,2/ 6L=�3 *B90� ,
9 :Q8 (+.0.@/Lu 3 *BG�.>,%� :%6 G�K 6 G�. x 9 :<8
/Fu 3 � ,%.>.@� G�KL�],%. (�/L9>G :  $H � : G+/ � /Fu 3 (�. 8 G�K 90/Lu%� = K G 4 ,�* 3-6 G :%3 D G+K � G�K 3 F : G :
� |&( 6 9>*A*-G�.0,%� :�6�}/Fu&(�/ x 9>G�.>(�/ 3B6�4 ,%(+.#� 3 ( 6 90|%9>.090/B, � 9  {3� 0� � G�K : u%9>* u 5 �5 � � ��5 3 5 6 � � � � � 
 6-  tvu 3-: /Lu 3
6 90� = . 3 = � 3 /Lu%G 4 � : u 3-: ( =%= .>9 3B4 /LG�/Fu 3 ��( 6 / 3 KA��� � : G�,%. 4 9 : /LKLG 4 ,%* 3<x (+KL9>(+|%. 3 ��6 9 : /Lu 3
|&( 6 9 6 /FG}90� = KLG x�3 /Lu 3 *-,%K K 3B: / 6 G�.>,�/L9>G : � |&(+K KL9 :<8}4%398+3-:%3 KF(+*O,   tvu 3 *BG�.>,%� :�8�3B:%3 KL(�/F90G :
= KLG
* 3B4 ,%K 3 (+*B*-G�, : / 6 � G�K�/Lu%9 6�= G 6L6 9>|%90.>90/B,�|-,�( 4%4 9 :<85x (�KL9 (�|%. 3 ��6 ( 6 ( :%3O: *-G�.0,%� : /LGZ/Lu 3
K 3B6 /FK 9>* / 3-4 ��( 6 / 3 KA��� � (+, 8 � 3-: /F9 :<8 �7   tvu 38:%3�: K 3B6 /LKL9>* / 3B4 � G�KL�l,�. (�/L9>G : *
( : | 3�6 G�. x�3B4��
, 6 9 :<8 ( : ,���� 6 G+. x�3 K � ( :�4 /Lu 3D3-: /F90K 3D= KLG
* 3B4 ,%K 3 *-( : | 3 K 3B=�3 (�/ 3B4� 

W | 6L3 K x�3 /Fu%(�/ D b � F89 6 90/ 6L3 .0�A( : G = /L9>� 9SR
(�/F9>G :q= K G�|%. 3 � K 3 � 3 K K 3B4 /LG!( 6 /Fu 3�= K 9>*-9 :<8}6 ,�| �
= KLG+|%. 3 �  �7 9 : * 3 /Fu 3#6L3 /�7_9 6 G : .A,�2 : G :<: 9>� = .>90*-90/L.A, D *B� K 723 * /F90G : b  0� F � /Lu 3 ��G 6 / :%398 (�/F9 x+3
K 3B4 ,%* 3B4 *BG 6 /�*-G+.>,%� :�� 9 � ( : , � 9 6 G�|2/ (+9 :%3-4 |-, 6 G�. x 9 :<8

	 D
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: u%G 6 3 6 G+.>,�/L9>G : D ���6X � �(X�� � F 4%3 N :%3-6 ( :%3O: *-G�.0,%� : 3,6 U ���-�
 6 U D � �ZX�� � F�G+�]*-G 6 /
 6�U � ��� � � � � � �)� �
 
t�G�| 3Z3 L 3 * /F9 x�3+� /Fu 3 *BG�.>,%� : 8�3-:%3 KF(�/L9>G : (+. 8 G�KL9 /Fu%� K 3 ?
,�9>K 3B6 /Lu&(�/</Fu 3Z6 ,�| = KLG+|%. 3 � *-( :
| 3�6 G�. x�3B4R3 @ *-9 3-: /F.T, � ( :%4 /Lu&(�/v( : G = /L9>��(+. 6 G+.>,�/L9>G : /FG�/Lu 3 ��( 6 / 3 K ��� | 3 G+|�/ (+9 :%3-4 | 3 �
� G�K 3 /FG
Gl� ( : ,�*-G+.>,%� :%6 u%( x+3 | 3B3-: ( 4%4�3-4 /FGl/Lu 3 � G�K �l,%.>(�/F90G : G���/Lu 3 K 3-6 /LKL90*B/ 3B4 � ( 6 / 3 K
���  
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C : . 3-6 6 /Fu 3q6 G�.0,�/F90G : G��5/Fu 3 ��( 6 / 3 K ��� 9 6 9 : / 398�3 K �<6 G+. x 9 :<8 - / ��
+1 4 G 3-6R: G�/ = K G x 9 4%3
( 6 G�.>,�/L9>G : /FGm/Fu 3 G�KL9 8 9 : (+. H � = KLG+|%. 3 � -0/21   tvu�9 6 � 3 ( :%6 /Lu&(�/�G :%3 u&( 6 /LG /L,%K : /LG
|%KF( : * u � ( :%42� |�G�, :�4 9 : G+K 4%3 K /LGEN :%4 ( : G = /F9>��(+. H � 6 G�.0,�/F90G :� a;8=�= .A,
9 :Q8 ( 6 /F( :%4 (�K 4
|%KF( : * u � ( :%42� |�G�, :�4 (�. 8 G�K 90/Lu%� /FG}/Fu 3 K 3-6 /FKL90*B/ 3-4 � ( 6 / 3 K59 6�: G+/Z( :i3 =�(+* /�G = /F90��9AR
(�/L9>G :
= KLG
* 3B4 ,%K 3�6 9 : * 3 /Lu 3 K 3 9 6Z: G 8 ,%(+KF( : / 3-3 /Fu&(�/�( : G = /L9>��(+. 6 G�.>,�/L9>G : D G�K 3Bx�3B: (}� 3 ( 6 9>|%. 3
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H � 6 G+.>,�/L9>G : Fv*
( : | 3 � G+, :%4 � KLG+� (���G :Q8 /Fu 3]3 =29 6 /F9 :Q8 *-G�.0,%� :%6- �C G : 3 x�3 K � ( : G = /L9>��(+.
6 G�.0,�/F90G : G+�$/Lu 3 K 3B6 /LKL9>* / 3B4 � ( 6 / 3 K 9 : / 3�8�3 K = KLG 8 KF(+� = K G x 9 4%3-6 ( : u 3 ,%K 9 6 /F9>* 6 G�.0,�/F90G :�D 9   3+ 
/Fu 3 | 3-6 /�9 : / 398�3 K 6 G�.0,�/F90G : /Fu&(�/�*-( : | 3 G�|2/ (+9 :%3-4 |-,�*-G��]|%9 : 9 :<8l3 =�9 6 /L9 :<8 *-G+.>,%� :%6 F  

� G+/ 3 /Fu&(�/ � : u 3B: /Fu 3P6 / ( :�4 (+K 4 |%KF( : * u � ( :�42� |�G�, :%4 (�. 8 G�K 90/Lu%� 9 6 ( =%= .09 3B4 /FGm/Fu 3 K 3 �
6 /FK 9>* / 3-4 � ( 6 / 3 K � /Lu 3 ���XK 3 .>(>=�(�/F90G : |�G+, :%4%6 (+K 35x (+.09 4 .>G :A3 K<|�G+, :%4%6 � G�Kv/Fu 3 K 3-6 /LKL90*B/ 3B4
� ( 6 / 3 K�G : .A,   ; /�( 8 9 x+3-: : G 4%3�� 9 : G�K 4%3 KD/FG!G�|�/ (�9 : ( x (+.09 4 .>G : 3 K�|�G�, :�4 � G�K5/Fu 3 , :2�
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/FGI/Fu 3 ��G 6 /Z� KF(+* /F9>G : (+. 6 ,%| 6L3 / 6 ,�� D b � F   K 3 |%K 3 (M2�/F9 3-6 | , 6 3 . 3 *B/L9 :<8 /Fu 3�3-4<8+3�: 90/Lu
� ( =�90�l,%�V*-G 6 /  

'&G�K�/Lu 3 �l,%. /F9 � 90/ 3 � 6 9 :<8 . 3 � � (+* u�9 :%3 .>G+/ �J6 9SR-9 :<8m= KLG�|�. 3 � D _IH � 7 F �1:A3 |%KF( : * u G :T6L3 / 6
��U W P0X"*@\ 9 :\x G�. x 9 :<8 ( : 90/ 3 � P ( :%4 ( =�3 KL9>G 4 * � G�K : u%9>* u 5 6:9 �; � � ��� � �	� 	 � � � 	 � � ��6 9 6 /Lu 3*-.0G 6L3B6 /#/FG �

�
  ;86 � 3-: /L9>G :%3B4 9 : /Lu 3 .>( 6 /1[ u&( = / 3 K � /Fu 3B6L3�6 ,%| 6L3 / 6 ,%� 6 *-G+KLK 3B6L= G :%4 /LG�/Lu 3

6L3 /F, =�x (+KL9>(+|%. 3-6 9 : /Fu 3 G+KL9 8 9 : (+.$� G�K �l,%.>(�/F90G :� 5H /59 6 /Fu@, 6D6 ,V@�*B9 3B: /5/LG}|%KF( : * u G : /Fu 3B6L3
6 ,%| 6L3 / 6 � 9 : G�K 4�3 K /FG 3 .09>� 9 : (�/ 3 (+.>. � KL(+*B/L9>G : (+. 6 G�.>,�/L9>G :�6- 

� ��� ������� �0��� ����� � � ��� ����� � � � 	������ ��� �
tvu%KLG+, 8 uP/Fu 3�4%3 *BG�� = G 6 90/F90G : ( =%= KLG�(+* u � /Fu 3l6 G�.0,�/F90G : G+��/Lu 3 G�K 9 8 9 : (+.�9 : / 3�8�3 K = KLG 8 KF(+�
|�G+9>. 684 G :<: /LG 6 G�. x 9 :<8 � ( : , = KL90*-9 :Q8}6 ,%| = KLG�|%. 3 � 6- �HJ: 9 : / 3�8�3 K = K G 8 KL(+��� 9 :Q8 *-G+.>,%� :
8�3-:�3 KF(�/F9>G :�� /Fu 3�= KL90*-9 :<8�6 ,%| = KLG�|%. 3 � 9 6 G���/ 3-: 90/ 6L3 . ��( 4 9A@ *B,%.0/�9 : / 398�3 K = K G 8 KL(+�  #H � /Lu 3
4%3 *BG�� = G 6 90/L9>G : ( =%= K G\(+* u =�3 K � G�KL� 6�:A3 .0. � 9 /R9 6 | 3 *
(�, 6L3 /Lu 3P4 9T@�*B,%.0/B,rG+� 6 G�. x 9 :<8 /Lu 3
G�KL9 8 9 : (+. = K G�|%. 3 � u&( 6 | 3-3-: K 3-= . (+* 3-4 |-,i/ (�*32
.09 :<8 ( 6 G�� 3�: u&(�/ 6 9>� = . 3 KZ|�,�/ 6 /F90.>. 4 9T@ �
*-,%. / 6 ,%| = K G�|%. 3 �  IHJ: *-G�� = (+K 9 6 G :��a: u 3B: /Fu 3 = K 9>*-9 :<8q6 ,%| = K G�|%. 3 � ���jK 3 .>(>=�(�/F90G : u%( 6
/Fu 3 9 : / 398 KL(+.>9 /B, = KLG =�3 K /B,�� ( 2
9 :<8 /Fu 3 6 ,%| = K G�|%. 3 � G = /L9>� 9SR-(�/F90G :q3 ( 6 , � /Lu 3 � ( 6 / 3 KD���
|�G+, :%4 9 6Z: GP/L9 8 u\/ 3 KZ/Lu&( : /Lu 3 G :%3 G�|�/F(+9 :%3B4 |-, 6 G�. x 9 :<8 /Fu 3 .>9 :%3 (�K�K 3 . ( =%(�/F9>G : G+�v/Lu 3
G�KL9 8 9 : (+.�� G+KL�l,%.>(�/F90G : - ( 1  �HJ: /Lu 3 ( =%= .09>*-(�/F90G :%6I:A3 *-G :%6 9 4%3 K � ��G 6 /DG+�#/Fu 3 : G�KP2�G��A/Lu 3
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(+. 8 G+KL90/Lu%�V9 6 6 =�3B: /�9 :�6 G�. x 9 :Q8 /Fu 356 ,%| = K G�|%. 3 � 6B  tvu%9 6 *-G+� = ,2/ (�/L9>G : (�.>.A,�9 : / 3-:�6 9 x+3D= (+K /
G+� /Lu 3 (+. 8 G+KL90/Lu%� K 3 ?
,�9>K 3B6 G x+3 K � ��� G+��/Fu 3 [ ��C /F90� 3� 

� G+/ 3 /Lu&(�/�/Fu 3 *BG�.>,%� : 8�3-:�3 KF(�/F9>G : (�. 8 G�K 90/Lu%� 4 G 3B6 : G+/ K 3 ?@,%90K 3 ( : G = /L9>��(+. 6 G�.>,�/L9>G :
G+� /Fu 3 = K 9>*-9 :<8�6 ,%| = KLG�|�. 3 �  }HJ: (I��9 : 9>� 9SR-(�/F90G : D K 3B6L=�  ��(>=29>� 9SR
(�/F9>G : F = K G�|%. 3 � � ( : ,
*-G�.0,%� : : 90/Fu :�398 (�/L9 x+3JD K 3-6L=  Z= G 6 90/F9 x�3 F�K 3B4 ,%* 3B4 *-G 6 /5*
( : | 3 , 6 3-4 /FGR� G x�3 G : /LG /Fu 3
:%3 =
/�90/ 3 KF(�/L9>G : G+��/Lu 3 *-G�.0,%� : 8�3-:%3 KF(�/L9>G :�= K G2* 3-4 ,�K 3+  _ G+K 3 G x+3 K � ( 6 (�/ / 3B6 / 3B4 |-,}K 3 * 3-: /
6 /F, 4 9 3B6 G : /Lu 3R6 90� = . 3 = = 9 x G�/ 6L3 . 3 *B/F90G : *BKL90/ 3 K 9 ( D�6L3B3 � G�K�9 :%6 / ( : * 3 '&G�K K 3-6 /�( :�4rE G�. 42�
��(+KL| D �
��� � F - ��� 1 F � , 6 9 :<8 (l��(>=29>�l,%� (+| 6 G�.>,2/ 38x (+.0, 3 K 3B4 ,%* 3-4 *-G 6 /<*-G�.0,%� : ( 6v3-: / 3 KL9 :Q8
x (�KL9 (�|%. 3D4 G 3-6�: G+/ :%3 * 3-6L6 (+KL90.A,I. 3 ( 4 /LG�/Lu 3 ��( 6 / 3B6 /�*BG :\x�3 K 8 9 :<8 .>9 :%3 (�K = KLG 8 KL(+� ��9 :<8�6 G �
.>,�/L9>G : � 3 /Fu%G 4 � G�KZ/Fu 3 � ( 6 / 3 K   tvu 3R6L3 . 3 *B/F90G : G+� 3B: / 3 K 9 :<8 *-G�.0,%� :�6 . 3 ( 4 9 :<8 /LG 8 G
G 4
*-G :\x�3 K 8�3B: * 3]=�3 K � G�K � ( : * 3 9 6v4 9 6 *B, 6L6 3-4 9 : /Fu 3D:%3 =
/ 6 3 * /F9>G :�  � 3 /�, 6<: G : � G
*-, 6 G : u%G :
: 3 8�3-:�3 KF(�/ 3D:%3�: = (�/L/ 3 K :%6- 

tvu 3�6 G+.>,�/L9>G : G+��/Lu 3 ( =�= .>90*
(�/L9>G :�6L=�3 *B9AN&* = KL90*-9 :<8�6 ,%| = K G�|%. 3 � 9 6 (�K 3B6L3 (+KL* uR/LG = 9>*�G : 90/ 6
G :<:   ')G+K8��( : ,q( =%= .>90*
(�/L9>G :�6 u%G :A3Bx+3 K ��6 G�� 3 K 3B6 ,%. / 6 *BG : * 3 K : 9 :<8 /Lu 3l6 ,�| = KLG+|%. 3 � *-( :
| 3 � G�, :�4 9 : /Fu 3 .090/ 3 KF(�/F,%K 3+  t�G 3 @ *-9 3-: /F.T,R/ (+*32@. 3 /Fu%9 6 |�G+/ /F. 3-:%3 *32 G+��G�,%K<(+. 8 G�K 90/Fu�� �-:A3
*-G��l|�9 :%3 /Lu 3 , 6 3 G+��|�G+, :%4%6B� ( : ( =%= K G�=�90� (�/F9>G : (+. 8 G�KL9 /Fu%� � ( :%4�6 /FK 3B:<8 /Lu 3-: 9 :<8 G+��/Fu 3
� G�KL�l,�. (�/L9>G :� 

[ G :%6 9 4%3 K 9 :<8 /Lu 3 ��9 : 9>� 9SR-(�/F90G :!= KL9>*B9 :<8}6 ,%| = K G�|%. 3 � D ��� F 4%3 N :%3-4 � G�K5� G 4%3 . -0/21 � G :�3
*
( :I4%3 K 9 x+3 (�.0G : 3 Kv|�G�, :%4 G : 90/ 6Ax (�.>, 3 |-, 6 G�. x 9 :Q8 90/ 6 .>9 :�3 (+K = KLG 8 KF(+� ��9 :<8 K 3 .>(>=�(�/F90G :� 
K 3 /FKZ,}/LG�90� = KLG x�3 /Fu%9 6 .>G : 3 K�|�G�, :�4 |-, 6 /FK 3-:<8 /Fu 3B: 9 :<8 /Fu 3 � G�K �l,%. (�/F9>G :�  tvu%(�/89 6-� :A3
, 6L3 (}*-,�/ /F9 :Q8I= . ( :%3 (�. 8 G�K 90/Lu%�  ZH � :A3 N :%4 ( : 9 : / 3�8�3 K 6 G�.>,�/L9>G : /LGI/Lu 3 ��� K 3 . (>=�(�/L9>G :
G+� /Fu 3�= K 9>*B9 :<8�6 ,�| = KLG+|%. 3 � � 9 /�9 6 G = /F90� (�.   W�: /Lu 3 G�/Fu 3 K�u&( :%4�� : 3 *-G�� = ,�/ 3 ( : , =�=�3 K
|�G�, :%4 G : /Lu 3 � 9 : 90�l,%� K 3-4 ,�* 3-4 *BG 6 /�|-, 6 G�. x 9 :<8 /Fu 3A= KL90*-9 :Q886 ,�| = KLG+|%. 3 �gu 3 ,%KL9 6 /L9>*
(�.>.A,  
H � /Fu 3 u 3 ,%KL9 6 /L9>*�*-G 6 /�9 6D3 ?@,&(+. /LGI/Lu 3 = KL90*-9 :Q8}6 ,%| = KLG�|%. 3 � .0G :A3 KD|�G�, :%4 � /Lu 3 u 3 ,%K 9 6 /F9>*
6 G�.0,�/F90G : 9 6 G = /F90� (�.  aW /Fu 3 K : 9 6 3+� 9 � : 3<:%3B3-4 /FG 6 G�. x+3 /Fu 3v= K 9>*B9 :<8�6 ,%| = K G�|%. 3 ��G = /F90� (+.0.A, �
: 3 ( =�= .A, 6 / ( :%4 (+K 4 |%KL( : * u � ( :%42� |�G+, :%4 /FG /Fu 3]6 /FK 3-:<8 /Fu 3B:%3-4 � G�K �l,%. (�/F9>G :�� , 6 9 :<8R6 G�� 3
= KL90G�KL9 /B,RKL,�. 3 � G�Kv|%KL( : * u%9 :<8% 

t�GD/ 3B6 /�� G�K 3 (+KL.T,]/ 3 KL� 9 : (�/F9>G : G+��/Fu 3 *BG�.>,%� :�8�3B:%3 KL(�/F90G : (+. 8 G�KL9 /Fu%� �>:A3 , 6L3 /Lu 3 ( = KL9>G+KL9
, =%=�3 K<|�G+, :%4%6 G : /Fu 356 ,%| = K G�|%. 3 � x (+.0, 354%3Bx+3 .0G =�3B4 9 :!723 * /F9>G : b   �   b   tvu 3D6 =�3 *-9AN%* 3 = �
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; / 3 x�3 KZ, 90/ 3 KF(�/F9>G : G�� /Fu 3 *BG�.>,%� :�8�3-:%3 KF(�/L9>G : = K G2* 3-4 ,%K 3+� : 3 N&K 6 / *BG�� = ,�/ 3 /Fu 3 ( = KL90G�KL9
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(�/F90G : ��(?,�| 3 / 3 K ��9 : (�/ 3B4 D\G�K :A3 u&( x�3X8�3-:�3 KF(�/ 3-4 G :%3 G+K���G�K 3 ( 4 � 9 6 6 90|%. 3A= (�/L/ 3 K :%6ID 9   3+ 
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6 9 8�: ( =%= .09>*
(�/F9>G :%6-�M:A3 u&( x�3�4%3Bx+3 .0G =�3B4 ( 8 K 3-3-4 ,�u 3 ,%K 9 6 /F9>* � G+K /Fu 3<6 ,�| = KLG+|%. 3 �   K 3 N&K 6 /
4%3 N :%3H8 K G�, =%6 G+� 3-4<8�3B6 /Lu&(�/��l, 6 /]| 3 ( 6L6 9 8�:%3B4 /LG 8�3 /Lu 3 K�(+*B*-G�K 4 9 :<8 /FG�/Fu 3 |%KL( : * u%9 :<8
*-G :�6 /FKL(+9 : / 6-  tvu 3-:�� : 3 *-G :%6 /FK ,%*B/D( � 3 ( 6 9>|%. 3 ( 6 6 9 8�: � 3-: /8G�� 8 KLG+, =%6 G�� 3-4<8�3B6 /LG}(�K 9 :<8 �
: 3 9 : 9 /F9 (�.>.A,P( 6L6 9 8�: ( 6L=�3 *B9AN&* 8 KLG�, = /FGq/Lu 3 KL9 :<8 D�/Fu 3-: :A3R6L3 ?
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/Fu 3 K 9 :<8 D 9   3+  ( 8 KLG�, =&: u�G 6L3D3-4Q8�3-6 (+K 3 9 : *B9 4%3B: / /FG : G 4%3B6 (+.>K 3 ( 4 ,�G : /Fu 3 KL9 :Q8%� /Lu&(�/<9 6
: G+/ 3 =2*-.0, 4%3-4 | 3 *-(+, 6 3 G+� 3-4Q8�384 9 6 � , : *B/F9 x�3 |�KF( : * u�9 :<8 *BG :%6 /FKF(�9 : / 6B� ( :%4�: u%G 6L3 *
( = (�*-90/B,
K 3 ?
,�9>K 3 � 3B: / 4 G 3B6#: G+/ 3 =2* 3B3-4 /Lu 3 K 3 � (+9 : 9 :Q8 KL9 :<8 *
( = (�*-90/B,QF�D :A3 *-G�� = ,�/ 3 /Fu 3 K 3B6 ,%. /F9 :<8
*-G 6 /6D : 3 K 3 *BG�K 4 /Fu 3�: G 4%3�6L3 . 3 *B/F90G : /Fu&(�/Z. 3 ( 4%6 /LG�/Lu 3 ��G 6 / :%398 (�/F9 x�3 *-G 6 / 4 9AL 3 K 3B: * 3 D
( :%4 : 3 9>� = . 3 � 3B: /l/Fu%9 6�: G 4�3 ( 4�4 90/L9>G :�  \ (+* u = (�/L/ 3 K : 9 : 90/F9>(+.>9AR
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'&G�KA/Lu 3 *-.0, 6 / 3 KL9 :<8 ( =%= .>9>*-(�/F90G :��-:A3 , 6L3 ( 6 9>� 9>. (�K 6 ,%| = K G�|%. 3 � u 3 ,%K 9 6 /L9>*   K 3 *BG :%6 /FKL,�*B/
(]� 3 ( 6 9>|%. 3 *-.0, 6 / 3 Kv|-,}9 : 90/L9 (+.0.A, 6 3 . 3 *B/L9 :<8 ( 8 K G�, = G+� : G 4%3-6 ( 6v4%3 N :�3-4 | , /Fu 3 |%KL( : * u%9 :<8
*-G :�6 /FKL(+9 : / 6 D :A3 /Fu 3B: 9 / 3 KF(�/L9 x�3 .A,�( 4%4 /Lu 3�8 KLG+, = G+� : G 4%3-6 /Lu&(�/<. 3 ( 4%6 /LGl/Fu 3 | 3-6 / = KLG N%/
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(+.>K 3 ( 4 ,q9 : /Lu 3 *-.>, 6 / 3 K  ]� G+/ 3 /Lu&(�/ ��6 9 : * 3 *-.0, 6 / 3 K 6 (�K 3 *-G+� = . 3 / 3l6 ,%| 8 KF( = u 6-� /Fu 3 : G 4%3
6L3 . 3 * /F9>G : 4�3 / 3 KL� 9 :%3B6 /Fu 3v3-4<8�3B6 /Fu&(�/#(�K 31: 9 /Fu%9 : /Fu 3 *B.>, 6 / 3 K   '&G�K /Lu 3 �l,%. /F9 � 90/ 3 � 6 9 :<8 . 3 �
� (+* u�9 :%3 .>G�/ �J6 9SRB9 :<8 ( =%= .09>*
(�/F9>G :�� :A3Z4 9 4�: G+/<, 6L3 ( : ,}u 3 ,�KL9 6 /F90*�� G�K /Fu 3D6 ,%| = K G�|%. 3 �  

t�G 4%3Bx+3 .0G = (�� ,%.>. � |%.0G :<: *-,�/ /F9 :<8�= . ( :�3 (�. 8 G�K 90/Lu%�V� G+K /Fu 3D= K 9>*-9 :<8�6 ,%| = KLG�|�. 3 � G+� 3 (+* u
( =%= .09>*
(�/F9>G : : G+,%. 4 u&( x�3 K 3 ?@,%9>K 3-4 6L=�3 *B9AN&* = G�.A,
u 3B4 KF(+. 6 /L, 4 9 3B6- �HJ:%6 / 3 ( 4��-: 3 , 6 3<3 =29 6 /F9 :Q8
K 3-6 ,%.0/ 6-  '&G�K /Lu 3<:%3 / : G�KZ2 4%3-6 9 8�: 6 ,%| = KLG�|�. 3 � � :A3 , 6 3 2 : ( =%6 (�*32 *BG x�3 K#9 :�3 ?@,&(+.090/F9 3-6B  '&G�K
/Fu 3 *B.>, 6 / 3 K 9 :<8�6 ,%| = K G�|%. 3 � �V:A3 |&( 6L3B4 G�,%K *B,�/L/L9 :<8�= .>( :%3B6 G : *-,�/ 6v4%3Bx+3 .0G =�3B4 | , Y+G�u :2�
6 G :R3 /v(+.  7D - � � 1 F�( :%4R4�357 G�,QR
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9 : / 3 KL� 6 G�� *BG�, : / 3 K 6 ( :%4 /F9>� 3-6B� ( :�4 /Lu 3 | 3B6 /�9 : / 3�8�3 K 6 G�.>,�/L9>G :&:A3 u&( x�3 � G�, :%4  

	 �



	 	



� � ��� 	�� �/�!�
�9��������� ���
�����
�

K 3 u&( x�3 90� = . 3 � 3-: / 3B4 /Lu 3 (+. 8 G+KL90/Lu%� 9 : = K G 8 KL(+��� 9 :Q8 . ( :<8 ,&( 8�3 [�G : ( 7 C � : G�KP2
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* 3-6 6 9 :<8%�
= KL90� (+.
u 3 ,%KL9 6 /F90* 6 ( :%4 *BG :%6 /LKF(+9 : / 8�3-:%3 KF(�/L9>G :   H /#(+.>.0G :<6 � G�K�*-G+.>,%� : 8�3-:�3 KF(�/F9>G :
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= . 3 � 3B: / (�/L9>G : G = /F9>G :%6 D ����]D6 /F( :%4%6 � G�Kv, :%6 G�. x+3-4J: 90/Lu%9 : /Fu 3 (�.>.>G
*
(�/ 3-4 � u%G+,%K 6 F  
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;86 9>.0.>, 6 /FKL(�/ 3B4 9 : /Fu 3 = K 3 x 90G�, 6 /F(+|%. 3-6-� : 3 *-( :%: G+/ 6 G�. x�3 /Lu 3 . (�K 8�3 K�9 :%6 /F( : * 3B6 /FG�G = /F90� (+. �
90/B, : 90/Lu%9 : K 3 ( 6 G : (+|%. 3 /L9>� 3 , 6 9 :<8 G�,�K�90� = . 3 � 3-: / (�/F9>G : G+� /Lu 3�H � *BG�.>,%� :E8�3-:�3 KF(�/F9>G :
(+. 8 G+KL90/Lu%�   �$9>� 90/L9 :<8 /Fu 3 /FG�/ (+. [ �#C /F90� 3��V:A3 u%( x+3D= KLG 4 ,%* 3-4 ( : ( =%= KLG�=29>��(�/ 3 .A,�G = /L9 �
�l,%� 6 G�.>,2/F9>G : ( :%4 (R|�G�, :�4 /FG�(�/ / 3-6 /�/FG}9 / 6 ?@,&(�.>90/B,   C G :A3Bx�3 K � /Fu 3 K 3 (�K 3 G+/Lu 3 K : (�, 6
/FG /LKL, : *-(�/ 3 /Fu 3l3 =�(+*B/ 6 G�.>,2/F9>G :q= K G2* 3-4 ,%K 3 9 : G�K 4%3 K�/LGRG�|�/F(+9 : ( =%= K G?=290� (�/ 3]6 G�.>,�/L9>G :�6- 
W5:�3 ��(?, 6 3 /]( : , =%=�3 K].09>� 90/�G : *-G+, : / 3 K 6 .>9A2 3 /Fu 3 : ,%�l| 3 KZG+�v*BG�.>,%� :%6B� /Lu 3�: ,%�]| 3 K
G+� G = /F9>��(+.0.A, 8�3-:�3 KF(�/ 3-4 *-G�.0,%� :%6-� /Lu 3�: ,%�]| 3 K�G�� ��( 6 / 3 K<90/ 3 KF(�/F9>G :%6-� G+K</Lu 3Z: ,��l| 3 K<G+�
: G 4�3-6 9 : /Fu 3 |�KF( : * u � ( :%4
� |�G�, :%4 /FK 3-3+ 

;8: G+/Lu 3 K : (�, /FGP/LKL, : *-(�/ 3 /Lu 3}6L3 (+KL* u /FK 3-3 9 6 /LG 6L3 / ( : ( = KL9>G+KL9 *B,�/ � GML x (+.0, 3+  tvu%9 6
(+��G+, : / 6 /FG 6 3 (+K * u%9 :Q8 90��/Fu 3 K 3�3 =29 6 / 6 ( : 9 : / 3�8�3 K 6 G�.0,�/F90G : /Fu%(�/5u&( 6 (R*-G 6 /D.>G : 3 K�/Fu&( :
G�K 3 ?
,%(+.�/LG /Fu 3 ( = KL9>G+KL9�*-,�/ � GML x (+.0, 3+ IC G :A3Bx�3 K � 9 � /Fu 3 G = /L9>��(+. x (+.>, 3 9 6�3 ?
,%(+.�/LG�/Fu 3
*-,�/ � GML x (+.>, 3+� /Fu 3 (+. 8 G�KL9 /Fu%� : 9>.0. : G+/ :%3 * 3-6 6 (+K 9>.A, = KLG x 9 4%3�6 ,%* u�( 6 G+.>,�/L9>G :�  W ,%K 3 = =�3 �
KL9 3B: * 3I: 90/Fu�/Fu 3�:�3 / : G�KP2 4�3-6 9 8�: ( =�= .>90*
(�/L9>G : 9 6 /Fu&(�/ /Fu 3�6 9SR 3 G+�$/Lu 3 |%KL( : * u � ( :%42� |�G�, :%4
/FK 3B3 9 6�x+3 KZ,!�l,%* u 4%3-=�3-:�4%3-: /DG : ( /F9 8 u\/�*-,�/ � GML x (+.>, 3�3 (+KL.T,�9 : /Fu 3�= KLG
* 3B4 ,%K 3� �7 G�� G�K
/Fu 3B6L38= KLG�|%. 3 � 6-� * u 3 *32@9 :<8 /Fu 3�3 =29 6 / 3B: * 3 G+�$( 6 G�.>,�/L9>G : G+� 8 9 x�3-: *-G 6 /A*
( : | 3 �l,�* u ��( 6 / 3 K
/Fu&( :I6 G+. x 9 :<8 /Lu 3 G = /L9>� 9SR
(�/F9>G :R= KLG+|%. 3 �  

; /Fu�9>K 4 : (�,I/FGR.09>� 90/ /Lu 3 *BG�� = ,�/ (�/F9>G :%6 *BG :%6 9 6 / 6 G+� 6 3 (+K * u%9 :Q8 � G�K�( : 9 : / 398�3 K 6 G�.>,�/L9>G :
: u%G 6L3 *BG 6 /�9 6a: 90/Lu%9 : � � G+��G = /F9>��(+.090/B,  6W�:%3 ��(�, 6 =�3 *-9 � ,l(8/LG�. 3 KF( : * 3 ��(+* /FG�K D � � �`F�9 :
(+| 6 G+.>,�/ 3]x (+.>, 3�  [ G :%6 9 4%3 KL9 :<8 /Fu 3 ��9 : 9>� 9SR-(�/F90G :}= KLG+|%. 3 � -0/21 � : 3 G+|�/ (+9 : ( : (�| 6 G�.0,�/ 3
/FG�. 3 KF( : * 3 � K G�� /Lu 3�=�3 KL* 3-: / ( 8�3�6L=�3 *-9TN&*
(�/F9>G : | ,P. 3 / /F9 :<8 � � � U D � � � � �

F � ��� � � � �
: u 3 K 3 � � 9 6 /Fu 3 | 3-6 /^2 : G :<: .0G : 3 K�|�G�, :�4�  tvu 3-:�� /Fu 3 *BKL9 / 3 K 9 (]� G�K = KL, : 9 :<8 (�|�KF( : * u �
( :%42� |�G�, :%4!: G 4%3 |-,}|�G�, :%4 | 3 *-G+� 3B6

� � � � � � � _ � � � �
t�GI/ (M2 3 ( 42x ( : /F( 8�3 G+�A/Fu 3 /FG�. 3 KL( : * 3 ��(+* /FG�K5� G�K 3 (+KL.T,P/ 3 KL� 9 : (�/L9>G : G�� *-G+.>,%� :E8�3-:%3 KF( �
/F9>G :�� G :%3 *
( : , 6 3 � � � � � � � 9 :%6 / 3 ( 4 G+� � � � 9 : /Fu 3�3 (+KL.T,q/ 3 KL� 9 : (�/F9>G : *-G :%4 90/F90G :%6
= K 3B6L3-: / 3-4 9 : 723 * /F90G : b   �   � ( 6
:A3 .0.&( 6 9 : /Fu 3 ( = K 9>G�K 9 6 ,%| = K G�|%. 3 � |�G�, :%4 *BG�� = ,�/ (�/L9>G :�6- 
')G+Kv� (>=290��9AR
(�/L9>G :�= KLG�|�. 3 � 6 /Fu 3 (�K 8 ,%� 3-: /<9 6v6 9>� 9>.>(+K  

K 3 u&( x�3 / 3-6 / 3B4 /Fu 3 , 6 3 G+� (�/LG�. 3 KF( : * 3 ��(+*B/LG�K5� G�K5/Fu 3�:%3 / : G+KP2 4%3-6 9 8�: = KLG+|%. 3 � : 90/Lu
( :%4 : 90/Lu%G�,�/ 6 = .>9 /�( 6 6 9 8�: � 3-: / 6B  tvu 3}6 /FKL(�/ 3�8 , /Lu&(�/ 6L3B3 � 6 /FG : G�KP2 | 3B6 /�*BG :%6 9 6 / 6 G+�
9 : /FK G 4 ,�*-9 :Q8 (I/LG�. 3 KF( : * 3 (���/ 3 KD/Fu 3 *-G�� = . 3 /F90G : G+�v/Fu 3 KLG
G+/ : G 4%3 6 G�.>,�/L9>G :  }HJ: t (+|�. 3-6
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���F���2�a:A3R= K 3-6 3-: /�/Fu 3 *-G�� = ,�/F(�/F90G : (+.�K 3-6 ,�.0/ 6 G�|�/F(+9 :%3B4 � G�KZ. (+K 8�3 9 :%6 /F( : * 3-6 , 6 9 :Q8 ( :
(+| 6 G�.>,�/ 3 /FG�. 3 KL( : * 3 G+� � , : 9 /  

[ G�� = (+KL9 :<8 /Lu 3-6 3 K 3-6 ,%.0/ 6
: 90/Lul/Fu 3 � u%G+,%K 6 .09>� 90/�/FK , : *
(�/F9>G :JD t�(+|%. 3-6 b � � F �>: 3<: G+/ 3 /Fu%(�/
� G�K�(+.0.�9 :�6 / ( : * 3B6^D |%,�/#G :%3 F : 3X8�3 /�/Fu 3<6 (�� 3 9 : *-,%�]| 3B: / x (+.0, 3 D G+K 3Bx�3B: (5| 3 /L/ 3 K x (+.>, 3 F �
6 G�� 3 /L9>� 3-6 �l,�* u ?@,%9>*32 3 K � |%,2/A/Lu 3 .>G : 3 KA|�G�, :�4 9 6 G+| x 90G�, 6 .T, : G+/A(+. : (�, 6 ( 6`8 G2G 4� �; . 6 G
/Fu 3�= G�K /L9>G : G���/L9>� 3R6L=�3-: /�9 : 6 G�. x 9 :<8 /Lu 3�6 ,%| = KLG�|%. 3 � 6�4%3 *BK 3 ( 6L3-6�6 9 : * 3�� |-,a, 6 9 :<8 (
/FG�. 3 KL( : * 3��Q:A3 /LKL, : *-(�/ 3 /Lu 3 *-,%�l| 3 K 6 G�� 3 � ( 6 / 3 K<���XG = /L9>��(+.>9 /B, = KLG
G+� 6- 
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tvu%9 6 : G�KZ2 6 u%G :<6 /Fu&(�/�/Fu 3 4%3 *BG�� = G 6 90/F90G : G+��( : 9 : / 398�3 K = K G 8 KL(+� *
( : = KLG x 9 4%3 (!K 3 �
� G�KL�l,�. (�/L9>G : : u%G 6 3 ��� K 3 .>(>=�(�/F90G : ,29 3 . 4%6 /L9 8 u\/�|�G+, :%4%6B  tvu%9 6 9 : /F,�K : (+.0.>G :<6 , 6 /LG
6 G�. x�384 9A@ *-,%. /#9 : / 3�8�3 K = KLG 8 KF(+� 6 /FGZG = /F90� (�.>90/B,  /C G : 3 x�3 K �%4%3 (+.>9 :<8�: 90/Fu ( : 9 : / 398+3 K = KLG �
8 KF(+� /Fu&(�/Du%( 6 ( : 3B: G�K ��G�, 6HD 9>� = .>90*-9 /GF : ,%�l| 3 KZG+� *BG�.>,�� :%6 K 3 ?@,%90K 3-6 /Lu 3 9 : / 3�8 KF(�/L9>G :
G+��(]*-G�.0,%� :&8�3-:�3 KF(�/F9>G :R= KLG
* 3B4 ,%K 3 9 : /Lu 3�3 =�(+* / 6 G�.0,�/F90G : (�. 8 G�K 90/Lu%�   tvu 356 / ( :%4 (+K 4}H �
/ 3 * u : 9>?@, 3B6 �l, 6 /�| 3 ( 4 ( = / 3B4 /LG�| 3 *BG�� 3 *-G�� = (�/L9>|%. 3^: 90/LuI*BG�.>,�� : 8�3B:%3 KL(�/F90G :� 

K 3 u&( x�3�= KLG = G 6 3-4 ( |%KL( : * u%9 :<8 6 * u 3 � 3 /Fu&(�/�GML 3 K 6 ( , : 9AN 3B4Ix 9 3O: G+� |%KF( : * u%9 :<8 KL,�. 3-6
= K 3 x 90G�, 6 .A,m, 6L3B4 9 : (!*BG�.>,%� : 8�3-:%3 KF(�/L9>G : � KF(�� 3O: G�KZ2m( :%4 3 =
/ 3-:�4%6 /Fu 3 *-.>( 6L6 G+� = KLG�| �
. 3 � 6 /Fu&(�/�*-( : | 3D4%3 (+.0/ : 90/Lu   K 3 (+. 6 G�u&( x�3�4%3 K 9 x�3B4 *BG :%4 9 /F9>G :%6 � G�K 3 (�KL.A, / 3 K ��9 : (�/L9>G :
G+� /Lu 3 *-G�.0,%� :E8�3B:%3 KL(�/F90G :i= KLG
* 3B4 ,%K 3+  HJ: /Lu 3�= KLG
* 3-6 6 G�� 4%3 x�3 .>G = 9 :<8 ( : 9>� = . 3 � 3B: /F( �
/F9>G : G+�</Fu 3RH �c*-G�.0,%� : 8�3-:�3 KF(�/F9>G : (+. 8 G+KL90/Lu%� �6:A3 u&( x�3}4 9 6 *-, 6L6L3B4 (P� 3O: (�. 8 G�K 90/Lu%��90*
* u%G�9>* 3-6 /Lu&(�/l��(�,mu&( x�3 ( 6 9 8�: 9TN&*
( : /�9 :QU , 3-: * 3 G : /Lu 3 (+. 8 G�KL9 /Fu%� =�3 K � G�KL��( : * 3+ EW ,%K
*-G�� = ,�/F(�/F90G : (+.
K 3B6 ,%. / 6 u%9 8 u%.>9 8 u\/�/Lu 3 *
( = (+|%90.>90/L9 3B6 ( :�4 /Lu 3 .>90��9 / (�/L9>G :�6 G+�)/Fu%9 6 ( =%= K G\(+* u  
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tvu 35H � *BG�.>,%� :H8+3-:%3 KF(�/L9>G : ( =�= KLG\(�* u 6L3-3 � 6 /LGl| 3^: 3 .>. 6 ,%90/ 3-4&: u 3B: ��G 6 / G+�$/Lu 3 *-G+� �
|%9 : (�/FG�K 9 (+. 4 9A@ *B,%.0/B,!G+��/Fu 3�6 3 / �J= (+K /F9 /F9>G : 9 :<8�� .>9A2 3 G = /F9>� 9SR-(�/F90G :I= KLG�|�. 3 � G : u&( :�4 9 6 9 :
/Fu 3�6 ,%| = KLG�|%. 3 � D : u�9>* uR90� = .09 3B6 /Fu&(�/A/Lu 3 ��( 6 / 3 KA��� |�G�, :%4 9 6 /L9 8 u\/GF |%,2/ 6 /L9>.0.%/Fu 3�6 ,%| �
= KLG�|�. 3 � K 3 ��(+9 :%6 /FKL(+*B/F(+|%. 3+ 

K 3 = G�9 : /�G�,�/�/Fu&(�/ :A3 u&( x�3 G+|�/ (+9 :%3-4 G�,%K�K 3-6 ,%.0/ 6 � G�K�/Fu 3 :%3 / : G�KP2 4%3B6 9 8+: ( :%4 *B.>, 6 / 3 KL9 :Q8
= KLG�|�. 3 � 6 , 6 9 :Q8!x�3 KZ, � 3�: ( =%= .>9>*-(�/F90G :m6L=�3 *-9TN&* 4�3Bx 9>* 3-6- q;8= (+K /]� K G�� /Fu 3�6 ,%| = KLG�|%. 3 �
u 3 ,%K 9 6 /F9>* 6-� /Lu 3RH �j*-G�.0,%� :;8�3-:�3 KF(�/F9>G : (+. 8 G�KL9 /Fu%� :A3 u&( x+3 9>� = . 3 � 3B: / 3-4 9 6 ( 8�3-:%3 KF(+.
= ,%K = G 6 3�6 u 3 .0.  

tvu%9 6 ( =%= K G\(+* u�9 6�= G+K / (�|%. 3 /LG�G+/Lu 3 KA( =%= .>9>*-(�/F90G :%6B  t�G]( 4 ( = /�/Fu 3�H � *BG�.>,%� :(8�3-:�3 KF(�/F9>G :
(+. 8 G+KL90/Lu%� /FGmG+/Fu 3 K 6L3 / �J= (�K /F9 /F90G : 9 :Q8�� .09S2 3 G = /L9>� 9SR
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